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The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hour), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

i Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday 270 - 6 -
Thursday - 11 7 -
Friday 324 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time



Sub questions

Question Number : 1 Question Id : 87827038900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?
(1) 36 hours

(2) 42 hours
(3) 45 hours
(4) 35 hours

Options :

878270152841. 1
878270152842. 2
878270152843. 3

878270152844. 4

Question Number : 2 Question Id : 87827038901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours
(3) 80 hours
&

4) 60 hours

Options:
878270152845. 1

878270152846. 2
878270152847. 3



878270152848. 4

Question Number : 3 Question Id : 87827038902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km

(2) 720 km
(3) 740 km
(4) 540 km
Options :

878270152849. 1
878270152850. 2
878270152851. 3

878270152852. 4

Question Number : 4 Question Id : 87827038903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

2) 120 hours
3) 108 hours
)

(
(:
(4) 92 hours

Options:

878270152853. 1



878270152854. 2
878270152855. 3

878270152856. 4

Question Number : 5 Question Id : 87827038904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 58 hours

(2) 62 hours
(3) 48 hours
(4) 56 hours
Options :

878270152857. 1
878270152858. 2
878270152859. 3

878270152860. 4

Question Id : 87827038899 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 87827038900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270152841. 1
878270152842. 2
878270152843 3



878270152844. 4

Question Number : 2 Question Id : 87827038901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 409

() 309

(3) 809

(4) 6092
Options :
878270152845. 1
878270152846. 2
878270152847. 3

878270152848. 4

Question Number : 3 Question Id : 87827038902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270152851. 3

878270152852. 4

Question Number : 4 Question Id : 87827038903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270152853. 1
878270152854. 2
878270152855. 3

878270152856. 4

Question Number : 5 Question Id : 87827038904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
878270152857. 1
878270152858. 2
878270152859. 3
878270152860. 4
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Question Number : 6 Question Id : 87827038905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tools can be used for virtual labs and simulations ?

(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :

878270152861. 1
878270152862. 2
878270152863. 3

878270152864. 4



Question Number : 6 Question Id : 87827038905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152861. 1
878270152862. 2
878270152863. 3
878270152864. 4

Question Number : 7 Question Id : 87827038906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the driving force for students’ commitment, engagement and perstistence
in self-directed learning ?

) Fixation

) Motivation

) Metacognition
) Assessment
Options:
878270152865. 1
878270152866. 2
878270152867. 3

878270152868. 4



Question Number : 7 Question Id : 87827038906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270152865. 1
878270152866. 2
878270152867. 3

878270152868. 4

Question Number : 8 Question Id : 87827038907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Passive style is a way of dealing with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement I :  Manipulative style is a way of dealing with conflict in which people try to get
what they want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:



8782701528609. 1
878270152870. 2
878270152871. 3

878270152872. 4

Question Number : 8 Question Id : 87827038907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152869. 1
878270152870. 2
878270152871.3

878270152872. 4

Question Number : 9 Question Id : 87827038908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When students, who have learned to type on a typewriter, transfer this skill to typing ona computer
keyboard, it is an example of learning ?
(1) Far transer

2

High-road transfer

(
(3
(

)
3)  Near transfer
)

}

Low-road transfer
Options:
878270152873. 1
878270152874. 2
878270152875. 3
878270152876. 4

Question Number : 9 Question Id : 87827038908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152873. 1
878270152874. 2
878270152875. 3

878270152876. 4

Question Number : 10 Question Id : 87827038909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3) Focus on foreign language use
(4) admission to students from elite class

Options :

878270152877. 1
878270152878. 2
878270152879. 3

878270152880. 4

Question Number : 10 Question Id : 87827038909 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270152877. 1
878270152878. 2
878270152879. 3

878270152880. 4

Question Number : 11 Question Id : 87827038910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iclent'Lfy the software that would be useful for statistical anaJysis of data generated In a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
() (A), (B) and (C) Only

) (B), (C) and (D Only

) (A), (C) and (D) Only

) (A)

4 (A), (B)and (D) Only

2
(3
(
Options:
878270152881. 1
878270152882. 2
878270152883. 3

878270152884. 4

Question Number : 11 Question Id : 87827038910 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270152881. 1
878270152882. 2
878270152883. 3

878270152884. 4

Question Number : 12 Question Id : 87827038911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270152885. 1

878270152886. 2

878270152887. 3

878270152888. 4

Question Number : 12 Question Id : 87827038911 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270152885. 1

878270152886. 2

878270152887. 3

878270152888. 4

Question Number : 13 Question Id : 87827038912 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of a published research article, DOI stands for :

(1

) Data Object Integration
(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface
Options :

878270152889. 1
878270152890. 2
878270152891. 3

878270152892. 4

Question Number : 13 Question Id : 87827038912 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152889. 1
878270152890. 2
878270152891. 3

878270152892. 4

Question Number : 14 Question Id : 87827038913 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1
(2
(3
(

Central tendency

Kurtosis

4)  Skewness

; Dispersion
)

)

Options:
878270152893. 1
878270152894. 2
878270152895. 3

878270152896. 4

Question Number : 14 Question Id : 87827038913 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152893. 1
878270152894. 2
878270152895. 3

878270152896. 4

Question Number : 15 Question Id : 87827038914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

o

namely
Options:
878270152897. 1
878270152898. 2
878270152899. 3

878270152900. 4



Question Number : 15 Question Id : 87827038914 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152897. 1
878270152898. 2
878270152899. 3

878270152900. 4

Question Number : 16 Question Id : 87827038915 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is ::nnceptualised as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270152901. 1
878270152902. 2
878270152903. 3

878270152904. 4

Question Number : 16 Question Id : 87827038915 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152901. 1
878270152902. 2
878270152903. 3

878270152904. 4

Question Number : 17 Question Id : 87827038916 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The cyberspace is normally compared to a type of electronic :
(1) Screen
(2) Salon
(3) Complex
)

(4) Agora

Options:

878270152905. 1
878270152906. 2
878270152907. 3

878270152908. 4

Question Number : 17 Question Id : 87827038916 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152905. 1
878270152906. 2
878270152907. 3
878270152908. 4

Question Number : 18 Question Id : 87827038917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3)  (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options :
878270152909. 1
878270152910. 2

878270152911. 3



878270152912. 4

Question Number : 18 Question Id : 87827038917 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701529009. 1

878270152910. 2

878270152911. 3

878270152912. 4

Question Number : 19 Question Id : 87827038918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270152913. 1

878270152914. 2

878270152915. 3

878270152916. 4

Question Number : 19 Question Id : 87827038918 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152913. 1

878270152914. 2

878270152915. 3



878270152916. 4

Question Number : 20 Question Id : 87827038919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Communication is a social process in which people use symbols to interpret
meanings in their own environment

Statement 11 : Peoplte and their inferactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :

878270152917. 1

878270152918. 2

878270152919. 3

878270152920. 4

Question Number : 20 Question Id : 87827038919 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:
O] T T HI Tiha ¢ o am or W o e H o fuR e o o

1 37 F B
O 11 ; G T 37 vl T e s e =k feen e 2t & e i At 76 @
T |

TG o S §, A9 o T fommed | o U S T I
(1) o1 S o 1 3 9

() 1SR FIR 11 e ¢

() F IR ¢, olfod RO 1T ¢

(4) UL ¢, Tl FUT Il €

Options:

878270152917. 1
878270152918. 2
878270152919. 3

878270152920. 4

Question Number : 21 Question Id : 87827038920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by

5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

(4) 8 hours
Options :
878270152921. 1
878270152922. 2
878270152923. 3

878270152924. 4



Question Number : 21 Question Id : 87827038920 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T &R 50 foesie o sfors i @ SR e e 6 g R 5 e e U e 71 630 el
H g A 2 e s )
(1) 7%
) 9%
3) 6%
4) §¥
Options :
878270152921. 1
878270152922. 2
878270152923. 3

878270152924. 4

Question Number : 22 Question Id : 87827038921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270152925. 1
878270152926. 2
878270152927. 3

878270152928. 4



Question Number : 22 Question Id : 87827038921 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot Wt o A 0 ol 9 27000 §1 A 12 fonfel @ e oM % 40000 S S
T 1 S0 A 2 6000 2, T FHA o G e
(1) 402
(2) 404
(3) 406
(4) 408
Options :
878270152925. 1
878270152926. 2
878270152927.3

878270152928. 4

Question Number : 23 Question Id : 87827038922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. If the ratio between the first and the second is 2: 3 and between
the second and the third is 7 : 9, then the third number is :

(1) 48

(2) 54
(3) 64
(4)

]

4) 66

Options:

878270152929. 1
878270152930. 2
878270152931. 3
878270152932. 4



Question Number : 23 Question Id : 87827038922 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 Teel 301 124 %1 4 Vel 4R gt T o o SR 2:3 € A4 T SR e it e
7:9% 9 dd Hem @
1) 48
(2) 54
(3) 64
(4) 66
Options :
878270152929. 1
878270152930. 2
878270152931. 3

878270152932. 4

Question Number : 24 Question Id : 87827038923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂllmviﬂg number series ?
2. 38 5. B s

(1) 3120
7. S 74
(3) 2045
(4) 630
Options:

878270152933. 1
878270152934. 2
878270152935. 3
878270152936. 4



Question Number : 24 Question Id : 87827038923 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea s s@en § P =1 7 foFawn gm 2

(), 2, 28 Fad, By o

(1) 3120
(2) 1029
(3) 2045
(4) 630
Options :

878270152933. 1
878270152934. 2
878270152935. 3
878270152936. 4

Question Number : 25 Question Id : 87827038924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gam after a]lowing a discount of 15% ?
(1) 20%

1
13=%
o 13
(3) 10%
2
15=%
HRES
Options:

878270152937. 1
878270152938. 2

878270152939. 3



878270152940. 4

Question Number : 25 Question Id : 87827038924 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forel o 91 TR e 3 forh o fer T 1 75% 1 15% F 92 ¢ F v AR A R
e 2 T 2
(1) 20%
1

) 13=%
o 1
(3) 10%

2
15=%

@ b3
Options :

878270152937. 1
878270152938. 2
878270152939. 3

878270152940. 4

Question Number : 26 Question Id : 87827038925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that they cannot both be true, nor can they both

be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates,
(C) Some mammals are not vertebrates.
(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
() (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270152941. 1
878270152942, 2
878270152943. 3

878270152944. 4

Question Number : 26 Question Id : 87827038925 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o § 9 9 97 39 Te W TG & 6 o O 9 T @ o € AR T S B WA €
(A) T TR Fe €

(C) T8 T FH T ¢

(D) 13 Sf Tt ] T |

7 feu T foered % 9 W SR T i
A (A) 4 (B)

Options :



878270152941. 1
878270152942. 2
878270152943. 3

878270152944. 4

Question Number : 27 Question Id : 87827038926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement - “All rectangles are
polygon” ?

(I) Some rectangles are polygon.

(2
(
(

No reclzmgles are nonapalvgnn.

s |

}

; No non-rectangles are non-polygon.
) All non-polygons are rectangles.
Options :

878270152945. 1

878270152946. 2

878270152947. 3

878270152948. 4

Question Number : 27 Question Id : 87827038926 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfefan # 8 #F 7 F97 Tk T F 30 F97 % q0ged ¢ - 9 A T ¢ ?

(1) T 3790 g4 &

() ot S TR-a e T B
(3) I ot o TR-agye I ¢
(4) Tl -G ST ¢ |

Options :



878270152945. 1
878270152946. 2
878270152947. 3

878270152948. 4

Question Number : 28 Question Id : 87827038927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing intension :
(A) Cheese

(B) Dairy product

(C) Soft Cheese

(D) Strong soft cheese

Choose the correct answer from the options given below :

(1) (B), (A), (©), (D)

(2) (B), (D), Q) (A)
(@) (D) (), B), (A)
4) (D) (O (A) (B)

Options :

878270152949. 1
878270152950. 2
878270152951. 3

878270152952. 4

Question Number : 28 Question Id : 87827038927 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ffefiaa gl =l Toned % TRl A H Hared Hifg
(A) TR

(B) g™ SIS

(©) ¥g TR

(D) it §g TR

= feu v fasredi § 9 9 39T & =9IH HifeU

(1) (B), (A), (©), (D)

(2) (B), (D), (O), (&)
(3) (D) (©), (B), (A)
4) (D) (©), (A) (B)
Options:

878270152949. 1
878270152950. 2
878270152951, 3

878270152952. 4

Question Number : 29 Question Id : 87827038928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stabﬂit}r s indispensable to economic progress because economic progress can 011l_v be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation
(4) Begging the question
Options :
878270152953. 1
878270152954. 2
878270152955. 3

878270152956. 4



Question Number : 29 Question Id : 87827038928 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" e e enfeler e ¥ e arfterd & it snfo wfe St Trovifo o 3 et 2 €1
% 9 Gl ¢ 1" S0 F B T SR T ¢

(1) TR Bem

(2) Ve Heokd (T2 &)
(3) ot qER
(4) ST g
Options :
878270152953. 1
878270152954, 2
878270152955. 3

878270152956. 4

Question Number : 30 Question Id : 87827038929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I :  The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

Options:



878270152957. 1
878270152958. 2
878270152959. 3

878270152960. 4

Question Number : 30 Question Id : 87827038929 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwmﬂﬁﬁz

FUA1: 79 yfoara e W e € FifE T ga e e ver 1 R B
HOT ;35 Yfosfta ' 3 wver , TF 7 45 ' H afafid wed o e g
IR FUA F S 8, e fou 0 fored § ¥ e SURgE I H T H ;
(1) S 3R w1 I T &

() WA 1 3R H 1 T e €

(3) U LTI &, ek oM 117 @

(4) Y 1TEM &, Tl e 11 7 ¢

Options :

878270152957. 1

878270152958. 2

878270152959. 3

878270152960. 4

Question Number : 31 Question Id : 87827038930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Google is a web search engine, while google chrome is a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270152961. 1

878270152962. 2

878270152963. 3

878270152964. 4

Question Number : 31 Question Id : 87827038930 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FATL: 70 TF o G 35 ¢ STl T M o6 A1 ¢ |

HUT I TEFHIGR U UF 96 9 39 ¢ ek HIsshaie fam U od e § |
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) YT TR &, Wifehd e 11 7Terd ¢
(4) U T &, TR HOR LT &
Options :

878270152961. 1

878270152962. 2

878270152963. 3



878270152964. 4

Question Number : 32 Question Id : 87827038931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fnllnwing memory hieral'ch}; diagl'am:

Cache
Memory

f s 3
/ Solid State Storage \

11

/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent [, II, [Il and IV (in that order) ?

Increase in Cost per bit
Increase in Access Time

(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

(D) Processor Registers

Choose the correct answer from the options given below :
(1) D) (C), (A) (B)

() (4), () (©) D)
() (B) () (D), (A)
@) @) (©), ({B) (4)
Options :
878270152965. 1

878270152966. 2



878270152967. 3
878270152968. 4

Question Number : 32 Question Id : 87827038931 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiea #ar | sme R/ fo=r #ifs ;

yfa fae =rma ° afg
S
&
7
il
st wa § gfg

T

Ly

/ v \
frfafiad o | 9 9 560 A-D (35 FH ) 11, 11 SRV i 97 & 7
(A) Fraw 2

T we feeh
(C) =W UaEd HAN
(D) 9rHER Tseed
A9 fou o foepedi H 9 W@ SR F1 T9H FIf9C

(1) (D) (©), (A) (B)
) (A), (B), (C), (D)
) (B), (O (D), (4)
) (D) (©) (B), (A)

(2
(3
(4

Options :



878270152965. 1
878270152966. 2
878270152967. 3

878270152968. 4

Question Number : 33 Question Id : 87827038932 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 1I
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user's computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IIT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l(E}’ and private key
Choose the correct answer from the options given below :

(1) (AM, B)-(), (CHIV), (DHI)

(@ (AH), (BHIV), (C)(I), (DA
(3) (AL, B)-V), (©)-(), (D)
(@) (AHII), BHLV), (©-{1), DK)
Options :

8782701529609. 1
878270152970. 2
878270152971. 3

878270152972. 4

Question Number : 33 Question Id : 87827038932 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 G-I 1 e it

T I
(am & w) (e

(A) wETa () R a9 W T F e P A% T % fou |

() fefwed WM () IR A WIS S YA % F S AR Tea & we feem
I € S 92§ -9 9t 2R A et 0 ¢

€ F#H (L1 oI, ol 21 BIE i STt 79T 157 0 & A Seffera
G201

(D) R (IV) IR % FE W AT Tel & g, T g Wt
%o o Pt of 2 &1

1 feu U ol W § W& S 1 7 T

(L) (AH, B)-), (CHLV), (DHII)

@ (A-D, BHIV), C)(L), (DHII)

() (A)I), B)-[V), (C-(1) (D))

(4)  (AM), BHIV), (©-{1), D}

Options :

8782701529609. 1
878270152970. 2
878270152971. 3

878270152972. 4

Question Number : 34 Question Id : 87827038933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270152973. 1
878270152974. 2
878270152975. 3

878270152976. 4

Question Number : 34 Question Id : 87827038933 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270152973. 1
878270152974. 2
878270152975. 3
878270152976. 4

Question Number : 35 Question Id : 87827038934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270152977. 1

878270152978. 2

878270152979. 3

878270152980. 4

Question Number : 35 Question Id : 87827038934 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270152977. 1
878270152978. 2

878270152979. 3



878270152980. 4

Question Number : 36 Question Id : 87827038935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270152981. 1

878270152982. 2

878270152983. 3

878270152984. 4

Question Number : 36 Question Id : 87827038935 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
R-R fra) o o £

T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270152981. 1

878270152982. 2

878270152983. 3

878270152984. 4

Question Number : 37 Question Id : 87827038936 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270152985, 1

878270152986. 2

878270152987. 3

878270152988. 4

Question Number : 37 Question Id : 87827038936 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270152985. 1
878270152986. 2
878270152987.3

878270152988. 4

Question Number : 38 Question Id : 87827038937 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

8782701529809. 1
878270152990. 2
878270152991. 3

878270152992. 4

Question Number : 38 Question Id : 87827038937 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el ieA W W% THeF ¢

Options :

878270152989. 1
878270152990. 2
878270152991. 3

878270152992. 4

Question Number : 39 Question Id : 87827038938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270152993. 1

878270152994. 2



878270152995. 3

878270152996. 4

Question Number : 39 Question Id : 87827038938 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 2 FH ICQ'Q UQ%: L&) AR (Assertion A) % ®9 ¥ fafaa % a [l T HT (Reason R) F

wHE

e (A) 9 ) o 1 R £ A o T g fettom i (3 Te o) @ g (@
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FOTR): 10N o 0 faferr A W TfoR TR JoTE o JEw G ¢

U FA o et H, el feu 0 ool o IR S A A

1) (A) ¥ (R) S W& & 3R (R), (A) F TE €A €

D) (A) 8 (R) ST &1 &, WA (R), (A) H 9K A T

3) (A) T € o (R) TE T €

4 (A)T W S Ol (R) T B

Options :

(
(
(
(

878270152993. 1
878270152994. 2
878270152995. 3

878270152996. 4

Question Number : 40 Question Id : 87827038939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270152997. 1

878270152998. 2

878270152999. 3

878270153000. 4

Question Number : 40 Question Id : 87827038939 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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() R IT & o FIF T ¢
(4) R 1T ¢, A o 1R
Options :

878270152997. 1
878270152998. 2



878270152999. 3
878270153000. 4

Question Number : 41 Question Id : 87827038940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270153001. 1

878270153002. 2

878270153003. 3

878270153004. 4

Question Number : 41 Question Id : 87827038940 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

friferfad W | @i 99 fovafarey TR e i, 1986 % STER wif faan @ a7

(1) Ealam, seres fovafmmem, s

(2) 3w el i e fevafeeren, feeeh

(3) e T5d W favaifareer, W

(4) TIEd Te TR HEE oK foafererd, TEeH

Options :
878270153001. 1

878270153002. 2



878270153003. 3

878270153004. 4

Question Number : 42 Question Id : 87827038941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270153005. 1
878270153006. 2
878270153007. 3

878270153008. 4

Question Number : 42 Question Id : 87827038941 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153005. 1
878270153006. 2
878270153007. 3
878270153008. 4

Question Number : 43 Question Id : 87827038942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
8782701530009. 1
878270153010. 2
878270153011. 3

878270153012. 4

Question Number : 43 Question Id : 87827038942 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
R o fAfaiga fayafoeredl i 3T T & HIesraTaR W :
(A) R faveEfeEmer™
(B) fecedt favafaamc
(C) AR fergafer=me
(D) 3 fevafeamTy
(E) et favafaare
e fou 7 foskedi § ¥ W ST A1 FF9 FHINT

(1) (B), (©) (A), (E), (D)
2 (B (B) (C) (D), (A)
(3)  (©), (D) (A), (E), (B)
@) (A) (B, B), D) ©



Options :

878270153009. 1
878270153010. 2
878270153011. 3
878270153012. 4

Question Number : 44 Question Id : 87827038943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270153013. 1
878270153014. 2
878270153015. 3
878270153016. 4

Question Number : 44 Question Id : 87827038943 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
-1 T-11

( T afafa) (WIHH &)
(A) HER &M () 3 G SR T R Gl 3 S o
(B) @2 Hfufd (1) vRa ¥ favafaeme faen
(C) THFOH HEM (II1) I o v 9¥ =2mge e
(D) =TTl Wiwfd (IV) el favafaered &1 wraeEt
At foau U fospedi H § W& I FH TAH HIWC ;

(1) (A1, (B)-(), (O)-0), (D)-{IV)
(2)  (A)-(II), (B)-(IV), (C)-(II), (D)-(D)
B) (A1), (B}-(I), (C)-(1V), (D))
(4) (A1), (B)-(I), (C)-(1T), (D)-(1)
Options :

878270153013. 1

878270153014. 2

878270153015. 3

878270153016. 4

Question Number : 45 Question Id : 87827038944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270153017. 1

878270153018. 2

878270153019. 3

878270153020. 4

Question Number : 45 Question Id : 87827038944 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153017. 1
878270153018. 2
878270153019. 3
878270153020. 4

Sub-Section Number : 3
Sub-Section Id : 8782701637
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827038945 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827038946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270153021. 1
878270153022. 2
878270153023. 3

878270153024. 4

Question Number : 47 Question Id : 87827038947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270153025. 1

878270153026. 2

878270153027. 3

878270153028. 4

Question Number : 48 Question Id : 87827038948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270153029. 1
878270153030. 2
878270153031. 3

878270153032. 4

Question Number : 49 Question Id : 87827038949 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270153033. 1
878270153034. 2
878270153035. 3

878270153036. 4

:No

Question Number : 50 Question Id : 87827038950 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270153037. 1

878270153038. 2

878270153039. 3

878270153040. 4

Question Id : 87827038945 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827038946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e1e1 o 91 H 23T yded Uk W91 &9 71 § it
(1) <R %l G&A1 d9ga ATHF ¢ |

(2) <R AN Sl AR BT ® |
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(4) T 1 Y IR e B
Options :

878270153021. 1
878270153022. 2
878270153023. 3

878270153024. 4

Question Number : 47 Question Id : 87827038947 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SSia HeHl ST S G 1 FHIHH e g 9T foRa S wehd @ 7
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Options:

878270153025. 1

878270153026. 2

878270153027. 3

878270153028. 4

Question Number : 48 Question Id : 87827038948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yypadi, Tt anfe & forg wefar & 1 @ e S €

(1) FR=E
(2) =4
(3) <EM
(4) BrEAl
Options:

878270153029. 1
878270153030. 2
878270153031. 3

878270153032. 4

Question Number : 49 Question Id : 87827038949 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2RI 1 Frefafas sl § o § v am e
(A) WRFrfarE 9o
(B) HIEHTF HeH

(C) =Y e
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(4) 9 (A), (D) 3R (E)

Options :

878270153033. 1

878270153034. 2

878270153035. 3

878270153036. 4

Question Number : 50 Question Id : 87827038950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270153037. 1
878270153038. 2
878270153039. 3
878270153040. 4
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Question Number : 51 Question Id : 87827038951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is an example of “Triad Colour-scheme’ ?
(1) Yellow, Yellow-orange, Red

(2) Yellow-orange, Red-purple, Blue-green
(3) Blue, Yellow-red, Green

(4) Blue-orange, Blue, Blue-green

Options :

878270153041. 1

878270153042. 2

878270153043. 3

878270153044. 4

Question Number : 51 Question Id : 87827038951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
HIY1 ' 2 HoR ThiH ' T IR §
(1) e, Jrer-=Re, are
(2) HIEn-AR, S-S, Aen-ga
(3) ren, dien-are, &

(4) e, den, e g

Options:

878270153041. 1

878270153042. 2

878270153043. 3

878270153044. 4



Question Number : 52 Question Id : 87827038952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of this medium is very close to Relief Sculpture ?
(1) Lithography

(2) Serigraphy

(3) Viscosity

(4) Dry point

Options :

878270153045. 1

878270153046. 2

878270153047. 3

878270153048. 4

Question Number : 52 Question Id : 87827038952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) foemie

(2) ERTE

(3) fawmifaet
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Options :

878270153045. 1
878270153046. 2
878270153047. 3

878270153048. 4

Question Number : 53 Question Id : 87827038953 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Cercular pad used by Japanese Relief print makers for Burnishing.

1 Gauge
(1) g

(2) Burnisher
(3) Barren

(4) Roller
Options :

878270153049. 1
878270153050. 2
878270153051. 3

878270153052. 4

Question Number : 53 Question Id : 87827038953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:

878270153049. 1
878270153050. 2
878270153051. 3

878270153052. 4

Question Number : 54 Question Id : 87827038954 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Multibit Scanner capture colour information in which of the following format ?
(1) Only Black

(2) RGB

(3) CMYB

(4) Primary colours only

Options :

878270153053. 1

878270153054. 2

878270153055. 3

878270153056. 4

Question Number : 54 Question Id : 87827038954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270153053. 1

878270153054. 2

878270153055. 3

878270153056. 4

Question Number : 55 Question Id : 87827038955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Name the philosopher who said ‘Beauty is Perfection’ ?
(1) Leo Tolstoy

) Baumgarten
(3) Ruskin

) Hegel
Options :
878270153057. 1
878270153058. 2
878270153059. 3

878270153060. 4

Question Number : 55 Question Id : 87827038955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

34 TR 1 W Sy 9 e o, ' gicd wepiar &' (Beauty is perfection)
(1) forn 2ot

2) St

3) e

=

(
(4) ®=Td
Options :
878270153057. 1
878270153058. 2
878270153059. 3

878270153060. 4

Question Number : 56 Question Id : 87827038956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the odd one who is not associated with Renaissance period painters.
(1)  Donatello

(2) Boticelli

(3) Leonardo-da Vinci

(4) Titian

Options:

878270153061. 1

878270153062. 2

878270153063. 3

878270153064. 4

Question Number : 56 Question Id : 87827038956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3G AT 1 TeHIC FSer Gae FersTrror el & faserrl § 76 € ;

(1) SFRs
) e
(3) feramret-zn fa=dh
(4) feferr

Options :

878270153061. 1
878270153062. 2
878270153063. 3
878270153064. 4

Question Number : 57 Question Id : 87827038957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which cave of Ajanta ‘Syama Jatak” is painted ?

() 1
() 2
(3) 10
4) 9
Options:

878270153065. 1
878270153066. 2
878270153067. 3
878270153068. 4

Question Number : 57 Question Id : 87827038957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

srsiar o fope T | siras fafa © 2

(H 1
2 2
(3) 10
(4) 9
Options :

878270153065. 1
878270153066. 2
878270153067. 3
878270153068. 4

Question Number : 58 Question Id : 87827038958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The important movement towards develnping a “world lzmguage without words” is known as :
(I) Monotype

(2) Prototype

(3) Isotype

(4) Phol'nl}’pe
Options:
8782701530609. 1
878270153070. 2
878270153071. 3

878270153072. 4

Question Number : 58 Question Id : 87827038958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘vz e fava o' foemfia = 1 fown o Wyl Sieier o AW R I S
(1) Ry
(2) URRRY
(3) AEHERY
(4) IRy
Options :
8782701530609. 1
878270153070. 2
878270153071. 3

878270153072. 4

Question Number : 59 Question Id : 87827038959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Largest Buddhist temple situated in Java Indonesia is known as :
(1) Angkorvat temple

(2) Borobudur temple

(3) Prambanan temple
(4) Momoyama temple
Options:

878270153073. 1
878270153074. 2
878270153075. 3
878270153076. 4

Question Number : 59 Question Id : 87827038959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e sl § o gag oS §iig Hfe #i fohg A 9 S S € ?

(1) 3TERER AT

(2) NG AR

(3) wrAH HiGT

(4) HHEE A
Options :

878270153073. 1
878270153074. 2
878270153075. 3
878270153076. 4

Question Number : 60 Question Id : 87827038960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Kantha embroidery belongs to which state ?
(1) West Bengal

(2) Odissa

(3) Maharastra
(4) Rajasthan
Options:

878270153077. 1
878270153078. 2
878270153079. 3
878270153080. 4

Question Number : 60 Question Id : 87827038960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fid FHIGTRRT ol Ty fohg 59 9 © 72
(1) °f¥=H a9
(2) afem
(3) TERTZ
(4) TSEH
Options :

878270153077. 1
878270153078. 2
878270153079. 3
878270153080. 4

Question Number : 61 Question Id : 87827038961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



)

hoose the incorrect match of iconography of the Brahmanical figures at Mathura.
1) Ganesha - Nude

2} Surya - Kavach

3)  Visnu - Gada

4) Indra - Crown

I —— | p—

Options:

878270153081. 1
878270153082. 2
878270153083. 3

878270153084. 4

Question Number : 61 Question Id : 87827038961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

we i srerorETer gtemn foe % et fomed w1 wEA Fu

(1) O - 999

2 - wa

(3) fao - T

(4) 3g-d
Options :

878270153081. 1
878270153082. 2
878270153083. 3
878270153084. 4

Question Number : 62 Question Id : 87827038962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Name the book in which the author Ajitcoomar Mookerjee has mentioned about Jadu-patuas
paintings of mural style in the temples of Bankura district.

(1) Folk Art of Bengal

(2)  Ancient Indian Art and Culture

(3) Medieval Art and culture

(4) Indian Art History

Options:

878270153085. 1

878270153086. 2

878270153087. 3

878270153088. 4

Question Number : 62 Question Id : 87827038962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
9 T o T T ok ek el e A e et o el % v W o -z fo
F R fora ¢
(1) e 3T S
Q) e dfem o e FeR
() fead o TS FeR
W dfem
Options :
878270153085. 1
878270153086. 2
878270153087. 3

878270153088. 4

Question Number : 63 Question Id : 87827038963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

In which art period mixture of Hellenistic and Buddhist forms are seen ?
(I) Gandhara Art

(2) Mauryan Art

(3) Mathura Art

(4) Gupta period

Options :

878270153089. 1

878270153090. 2

878270153091. 3

878270153092. 4

Question Number : 63 Question Id : 87827038963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) T shedl

(2) HME Hel

(3) HYU hedl

(4) T«
Options :

878270153089. 1
878270153090. 2
878270153091. 3

878270153092. 4

Question Number : 64 Question Id : 87827038964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following Mudra, Buddha sits in the pralambapada asana carved in cave no.16 of
Ajanta ?

(I) Shiv linga mudra

(2) Dharmachakra mudra

(3) Lotus mudra

(4) Surya mudra

Options:

878270153093. 1

878270153094. 2

878270153095. 3

878270153096. 4

Question Number : 64 Question Id : 87827038964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I & T TR 16°H Feefen § @ frw g 95 # v e o 62 7 Sehf e

(1) fom fem

D
) THH
W T
Options :

878270153093. 1
878270153094. 2
878270153095. 3
878270153096. 4

Question Number : 65 Question Id : 87827038965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Mark the birthplace of the Kangra style of India painting in 1405 by Raja Hari Chand.

(1) Jammu
(2) Garhwal
(3) Guler

(4) Chamba
Options:

878270153097. 1
878270153098. 2
878270153099. 3
878270153100. 4

Question Number : 65 Question Id : 87827038965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
TS &8 g B 1405 H R fememen &t e el & 3qua L6 7T |
(] W

(2) e
(3) TR
(4) <
Options :

878270153097. 1
878270153098. 2
878270153099. 3
878270153100. 4

Question Number : 66 Question Id : 87827038966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The story of the elephant who nurtures his blind parents in Vihara 17 of Ajanta is called as :
(1) Syama Jatak

(2) Satdanta (Shaddanta) Jatak
(3) Matriposak Jatak
(4) Vishvantar Jatak

Options:

878270153101. 1
878270153102. 2
878270153103. 3

878270153104. 4

Question Number : 66 Question Id : 87827038966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T4 E9 # F W s o FoRR 17 6 A o) =T e e w5 €, Fee ¢
(1) = Sds
2) e (e ) Sk

(
(3)  FIRTI
(4) foreic o

Options :

878270153101. 1
878270153102. 2
878270153103. 3

878270153104. 4

Question Number : 67 Question Id : 87827038967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who was the proponent of Alankar Themy ?

(1) Anand Vardhan
(2) Acharya Vaman
(3) Bharat Muni

(4) Acharya Bhamah
Options:

878270153105. 1
878270153106. 2
878270153107. 3
878270153108. 4

Question Number : 67 Question Id : 87827038967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s fagia % gfaues #4492
(1) &g =EF

(2) rEE A

(3) W@ ﬂf"f

(4) SEE uE

Options :

878270153105. 1
878270153106. 2
878270153107. 3

878270153108. 4

Question Number : 68 Question Id : 87827038968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the [ullcswing female artist is not associated with Baroda ?

(1) Kishori Kaul

(2) Rini Dhumal

(3)  Mrinalini Mukharjee
(4) Anjole Ela Menon
Options:

8782701531009. 1
878270153110. 2
878270153111. 3
878270153112. 4

Question Number : 68 Question Id : 87827038968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
frefafga 4 @ -9 afeet FARFR F1 6y T2 9 76l © 7
(1) Tromd =t
(2) TF yur

(3) et qast
(4) ST 3 A

Options :

878270153109. 1
878270153110. 2
878270153111. 3
878270153112.4

Question Number : 69 Question Id : 87827038969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which vear was Triennial Indian International event launched ?

(1) 1997
(2) 1968
(3) 1954
4) 1970
Options:

878270153113. 1
878270153114. 2
878270153115. 3
878270153116. 4

Question Number : 69 Question Id : 87827038969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e wRdr Sare gaiiE 1 gURY fog of gat o1 ?

(1) 1997
(2) 1968
(3) 1954
(4) 1970

Options :

878270153113. 1
878270153114. 2
878270153115. 3
878270153116. 4

Question Number : 70 Question Id : 87827038970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Famous artist Rembrandt was born in which place 7

(1) Peris

(2) Leiden

(3) Malaga

(4) Antwerp
Options:

878270153117. 1
878270153118. 2
878270153119. 3

878270153120. 4

Question Number : 70 Question Id : 87827038970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

UG RN Tali 3T 5 fohe T4 O g7 o1 7

(1) Ui
(2) faes
(3) Harm
(4) Tl
Options :

878270153117. 1
878270153118. 2
878270153119. 3

878270153120. 4

Question Number : 71 Question Id : 87827038971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is mathematical ratio of the sides that creates an organic, balanced and
aesthetically pleasing composition ?

() 1:1613
() 1:1617
(3) 1:1618
(4) 1:1619
Options:
878270153121. 1
878270153122. 2
878270153123. 3

878270153124. 4

Question Number : 71 Question Id : 87827038971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
feperfeiad & 9 #19-1 3 [l o1 MO SO & S O S, §afen oK Hied # g § wew
G A fo el €
(1) 1:1613
() 1:1617
(3) 1:1618
(4) 1:1619
Options :
878270153121. 1
878270153122. 2
878270153123. 3

878270153124. 4

Question Number : 72 Question Id : 87827038972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Why is corporate advertising controversial ?

(1) Corporate advertising is a waste of money

(2) Consumer aren’t interested in this type of adverhsing
(3) This is costly form of corporate self indulgence

(4) All of above

Options:

878270153125. 1

878270153126. 2

878270153127. 3

878270153128. 4

Question Number : 72 Question Id : 87827038972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FHLae o faamers #4418k € ?

(1) G for=ma =1 7909 2 |

) TH YR o famoHl § SUMERTeT o ®id Tel erdl o |
(3) T2 FIUNE SAHIH T T WEY © |

) STgE Wl

Options :

878270153125. 1

878270153126. 2

878270153127. 3

878270153128. 4

Question Number : 73 Question Id : 87827038973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The name or style under which a firm does its business for parlicular class of goods is called

(I) Logo
(2) Trade name
(3)  Symbol

(4) Pictograme
Options:
878270153129. 1
878270153130. 2
878270153131. 3

878270153132. 4

Question Number : 73 Question Id : 87827038973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0 71 et foe sfa 8w fore s ot a1 ol o SR R © Faeld ¢l
1) @m

w

) T

(

@ =
(3) et

(4) frmm
Options :
878270153129. 1
878270153130. 2
878270153131. 3
878270153132. 4

Question Number : 74 Question Id : 87827038974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Famous poster “Iwant you for US Army” for military recruiting was made by which of the following
designers ?

(1) Iames Montgomery Fragg

(2) James Baldwin

(3) Otto Lehmann

(4) Hans Rudi Erdt

Options:

878270153133. 1

878270153134. 2

878270153135. 3

878270153136. 4

Question Number : 74 Question Id : 87827038974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 ¥ ol o for 9 I ‘T want you for US Army” frfefiad # § foe fesmm 3l Fd 97

(1) S H=A

@ wmﬁﬂ

() @

OEEE ?é
Options :
878270153133. 1
878270153134. 2
878270153135. 3
878270153136. 4

Question Number : 75 Question Id : 87827038975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The poster through which first election in Germany opened to women titled “Frauen” (women) in
which year.

(1) 1919

(2) 1918

() 1920

(4) 1930
Options:
878270153137. 1
878270153138. 2
878270153139. 3

878270153140. 4

Question Number : 75 Question Id : 87827038975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R (feeTd) e TR ek wneam & SR < o eeh . wfeenadl o ferw e v o, g
o ¥ foert 417
(1) 1919
(2) 1918
(3) 1920
(4) 1930
Options :
878270153137. 1
878270153138. 2
878270153139. 3

878270153140. 4

Question Number : 76 Question Id : 87827038976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who was the first Indian artist who went abroad to learn Graphic Art ?
(1) Gaganendranath Tagore

(2) Mukul Chandra Dey

(3) Rabindranath Tagore

(4) Raja Ravi Verma

Options:

878270153141. 1

878270153142. 2

878270153143. 3

878270153144. 4

Question Number : 76 Question Id : 87827038976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el YA FHARRR A o7 S IR 272 Wrga fagsr wan o ?
(1) Mg e SR

(2 TFATRS

(3) sy TR

(4) T e o

Options :

878270153141. 1

878270153142. 2

878270153143. 3

878270153144. 4

Question Number : 77 Question Id : 87827038977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Woodcut prinl‘ed from 29 blocks, A long series of changing shapes b}f M. C. Escher is known as :
(1) Melancholia - I

(2) Metamorphose

(3) Apocalypse

(4)  The battle of Naked men

Options:

878270153145. 1

878270153146. 2

878270153147. 3

878270153148. 4

Question Number : 77 Question Id : 87827038977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T, T, R 3 e A 3 a a0 s o gr g v, f A g 9 a6
(1) WeraTer - |
(2) WM
() THe
(4) T 9e S Fohe T
Options :
878270153145. 1
878270153146. 2
878270153147. 3

878270153148. 4

Question Number : 78 Question Id : 87827038978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Engraving by Ramchand Roy in Anand Mangal (oonoodah mongal) book was published in the
year :

(1) 1820

(2) 1900

() 1816

(4) 1822
Options:
878270153149. 1
878270153150. 2
878270153151. 3

878270153152. 4

Question Number : 78 Question Id : 87827038978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" gz W' (Qonoodah Mongal) T o Tz 14 g1 ek et o, o o i 8 7

(1) 1820
(2) 1900
(3) 1816
(4) 1822
Options :

878270153149. 1
878270153150. 2
878270153151. 3

878270153152. 4

Question Number : 79 Question Id : 87827038979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“The Vista” is a dry point, by which of the following artists.
(1) Pablo Picasso

(2)
(3) Francisco de Goya
(4) Max Beck Mann

Rembrandt

Options:

878270153153. 1
878270153154. 2
878270153155. 3

878270153156. 4

Question Number : 79 Question Id : 87827038979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e fawr"! frefafaa o 9 foFg FeleR &1 g8 wge 87

(1) iseAr foerm
(2) ol

(3)  WRITEERT < T
(4) HHH I
Options :

878270153153. 1
878270153154. 2
878270153155. 3

878270153156. 4

Question Number : 80 Question Id : 87827038980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to “Ukiyo-e” definition which is correct :
(1) ‘Paint the Nature as it is’

(2) Creating ‘Shunga Secretly’

(3) ‘Celebration of the passing scene’

(4) ‘Copy the art works of Europeans’

Options:

878270153157. 1

878270153158. 2

878270153159. 3

878270153160. 4

Question Number : 80 Question Id : 87827038980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
IfFI-2 (UKIYo-e) TRYM F FER HH-H1 ol & ?
(1) ‘Wi =1 i =1 = fepror’
(2 M H ARG G
(3) TSRA T FH ISHS HA
(4) ‘FUIEIiEE S Ferhiad Fl Tehel FE1
Options :
878270153157. 1
878270153158. 2
878270153159. 3
878270153160. 4

Question Number : 81 Question Id : 87827038981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who was the Sculptor of ‘Pieta at St. Peter’s church.
(1) Michelangelo (1475-1564)
) Raphael (1483-1520)
(3) Durer Albrecht (1471-1528)
) Giorgione (1475/8-1510)
Options:
878270153161. 1
878270153162. 2
878270153163. 3

878270153164. 4

Question Number : 81 Question Id : 87827038981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
g= ded 9= H ' fager’ e & RieTsr #H 9 ?
(1) WIzhdl TSiell (1475-1564)
(2) THA (1483-1520)

(3) I Feae (1471-1528)

(4) HIfSHEM (1475/8-1510)

Options :

878270153161. 1

878270153162. 2

878270153163. 3

878270153164. 4

Question Number : 82 Question Id : 87827038982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who is known for using various kinds of material in his sculpl'ures ?
(1) Rajendra Tikku

(2) P.V. Jankiram
(3) Jeram patel

(4) Ajit Chakraborty
Options:

878270153165. 1
878270153166. 2
878270153167. 3

878270153168. 4

Question Number : 82 Question Id : 87827038982 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7o gt o fafu=t weer o el 1 wE = & o e s €2

(1) oiE fep

() & AEHERH
(3) SUH %A

(4)  aFSIId =Rl
Options :

878270153165. 1
878270153166. 2
878270153167. 3

878270153168. 4

Question Number : 83 Question Id : 87827038983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The section of a piece mould that contains all the actual mould sections hﬂldingJ them in their
correct position is called :

(1)  Waist mould

(2) Mother mould

(3)  Flexible mould

(4) Investment mould

Options:

878270153169. 1

878270153170. 2

878270153171. 3

878270153172. 4

Question Number : 83 Question Id : 87827038983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
e e o o e o s e % ot el ) o o o v e
(1) d=HeE
(2 W
(3) el wice
(¢) i AE
Options :
878270153169. 1
878270153170. 2
878270153171. 3

878270153172. 4

Question Number : 84 Question Id : 87827038984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Stoneware in a hard non-porous fired clay backed at temperature up to :

(1) 1400°C

2) 1500°C
(3) 1550°C
(4) 1600°C

Options:

878270153173. 1
878270153174. 2
878270153175. 3

878270153176. 4

Question Number : 84 Question Id : 87827038984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

QA S T Y 1 fogtfed T %2R 98 &, ® stferan {6 aqHe o T S G &

(1) 1400°C
(2) 1500°C
(3) 1550°C
(4) 1600°C
Options :

878270153173. 1
878270153174. 2
878270153175. 3

878270153176. 4

Question Number : 85 Question Id : 87827038985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who was the Sculptor of famous stone Sculpture “Abacus” installed at Baroda ?
(1) Mahendra Pandya

(2) Sankho Chaudhari

(3) Balbir Singh Katt

(4) Nagji Patel

Options:

878270153177. 1

878270153178. 2

878270153179. 3

878270153180. 4

Question Number : 85 Question Id : 87827038985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(1) Weg qugdl

(2) W@ =

(3) e fHE FZe

(4) TS 92
Options :

878270153177. 1
878270153178. 2
878270153179. 3
878270153180. 4

Question Number : 86 Question Id : 87827038986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In which of the following architectural style, Modhera Sun Temple was built ?

(1) Solanki
(2) Dravidian
(3) Vesara

(4) Nagar

Options:

878270153181. 1
878270153182. 2
878270153183. 3

878270153184. 4

Question Number : 86 Question Id : 87827038986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hren g4 Hfer #1 fmior frefafaa § § g argeren I 8 gan o1?
(1) Ereishl

(2) =fatemd
() W
(4) TR
Options :

878270153181. 1
878270153182. 2
878270153183. 3

878270153184. 4

Question Number : 87 Question Id : 87827038987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Daya Ram Sahni was associated in excavation done in ?
(1) Harrappa

(2) Mohenjodaro

(3) Rakhigarhi

(4)

Dhaulaveera

Options:

878270153185. 1
878270153186. 2
878270153187. 3

878270153188. 4

Question Number : 87 Question Id : 87827038987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 TH gel s Hay H g Gk § o1
(1) =™

(2) HETEE

(3) TR

(4) AR

Options :

878270153185. 1
878270153186. 2
878270153187. 3
878270153188. 4

Question Number : 88 Question Id : 87827038988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In Artist's pigment colour theory, when 3 primary colours are mixed together which colour is
farmed ?

(I) Olive green

(2) White

(3) Grey

(4) Dblack
Options:
878270153189. 1
878270153190. 2
878270153191. 3

878270153192. 4

Question Number : 88 Question Id : 87827038988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
FelTeh o {rierer 11 fargra ® S8 3w T 0 e o fiven ST R ° PR-9 WA e ?
(1) e

Options :

878270153189. 1
878270153190. 2
878270153191. 3
878270153192. 4

Question Number : 89 Question Id : 87827038989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



"Wash out’ is used in print making for :
(1) To spread out on plate for Aquatint

(2) The etch the stone or plate

(3) To remove old ink or drawing from a stone or plate
(4) To remove gum and re sensitize the stone or plate
Options:

878270153193. 1
878270153194. 2
878270153195. 3

878270153196. 4

Question Number : 89 Question Id : 87827038989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BTITReT H A s’ o wEn g fore g # 2

(1) 3@tz 1 wie = faam & fou

(2) WER I w2 & TH * fou

(3) Tordl g% A1 e | g SR 91 e R e & o
(4) i o BT IR WER A1 W i I YR 99H & foag

Options :

878270153193. 1
878270153194. 2
878270153195. 3
878270153196. 4

Question Number : 90 Question Id : 87827038990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Biscuit firi_ng is related with :
(1) Terracotta

(2) Bronze casting

(3) Glaze on ceramics
(4) Patina on sculpture
Options:

878270153197. 1
878270153198. 2
878270153199. 3
878270153200. 4

Question Number : 90 Question Id : 87827038990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forege Wl 1 Hey foad 2

(1) I

(2) T H TR

(3) =i TSt % Sl Rl TweRM % A
(4) Tl T o

Options :

878270153197. 1
878270153198. 2
878270153199. 3
878270153200. 4

Question Number : 91 Question Id : 87827038991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are examples of ‘Symmetrical Balance” ?
(A) Balance of Contrast

(B) Alternate Balance

(C) Vertical Balance

(D) Balance by weight

(E) Diagonal Balance

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

(2) (B) and (D) Only

(3)  (A), (D) and (E) Only

(4) (B), (C) and (E) Only

Options:
878270153201. 1
878270153202. 2

878270153203. 3

878270153204. 4

Question Number : 91 Question Id : 87827038991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafaa § § #19 $17 T 9aem F 3R §72
(A) =AfREHT T

(B) eI HeeH

(C) Zeow Her

(D) R HgeH

() forekvita Hqer

H3 fau o faerel o ¥ W@ S 1 <9 H
(1) 9 (A), (O) R (E)

(2) %99 (B) ¥R (D)

(3) e (A), (D) 3R (E)

(4) %9 (B), (C) IR (B)

Options :

878270153201. 1

878270153202. 2

878270153203. 3

878270153204. 4

Question Number : 92 Question Id : 87827038992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the following choose which are important divisions of design ?
(A) Naturalisation

(B) Multicoloured
(C) Conventional or decorative
(D) Abstract

Choose the correct answer from the Dptinns given below :

(1) (&) (C) and (D) Only
(2) (A), (B) and (D) Only
(3) (€) and (D) Only
(4) (A)and (C) Only



Options :

878270153205. 1
878270153206. 2
878270153207. 3
878270153208. 4

Question Number : 92 Question Id : 87827038992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfaa o sifyreq (fesmea) o weegol JffeRn 2
(A) veHfaard

(B) wEGTl/SgaTa

(C) URYIMER o1 AT

(D) oFd

# feu T fasredl B © @ SR 1 =9 F

(1) 9 (A), (O) 3R (D)

) A (A), (B) $TR (D)

(3) ad (C) 3R (D)

) E (A) 3R (C)

Options:

878270153205. 1
878270153206. 2
878270153207. 3
878270153208. 4

Question Number : 93 Question Id : 87827038993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which are basic elements of advertising ?
(A) Idea

(B) Point
(C) Symbol
(D) Logo
(E) Rhythm

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

(2) (A), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (B), (C) and (E) Only
Options :

8782701532009. 1
878270153210. 2
878270153211. 3
878270153212. 4

Question Number : 93 Question Id : 87827038993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fRTT 3 e Te F-9 §2
(A) To=R

®) fag

(C) Ydleh

(D) @

(E) wHFaGd

3 few U foeredl © § WE SR 1 =99 FIC -
(1) 9 (A), (O) R (E)

(2) = (A), (C) IR (D)

(3) %A (C), (D) ¥R (E)

(4) %9 (B), (C) IR (B)
Options :

878270153209. 1

878270153210. 2

878270153211. 3

878270153212. 4

Question Number : 94 Question Id : 87827038994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statement do not relate to the development of printing technology by movable
types ?

(A) Movable type was discovered by Gutenberg

(B) The above discovery was made in late 19% C

(C) This discovery gave birth to offset printing

(D) The first book printed with movable types was a bible

(E) Lead was used mixed with iron for making these movable types

Choose the correct answet from the options given below :
(I) (A), (C) and (D) Only

(2) (B), (C) and (E) Only
(3) (A) and (D) Only
(4) (C), (D) and (E) Only
Options:

878270153213. 1
878270153214. 2
878270153215. 3

878270153216. 4

Question Number : 94 Question Id : 87827038994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A Y Y e TRl o fowrg ¥ gay F frefatea § 9 S0 FR O 6 82
(A) e A el 2 R S R

(B) 3T ST 193 TTea] <k IS H oA T o1

(C) 39 =m0 § HFY E0 1 T g

(D) T 29 B YW qfed T it o |

(E) =t ZEY & | viten I ¥t H o frgw 1 w2 feran s o

= feu o o # 4 W& SO A T FIC

Options :

878270153213. 1
878270153214. 2
878270153215. 3

878270153216. 4

Question Number : 95 Question Id : 87827038995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Mark the chief features of Khajuraho style of temples.
(A) Specimen of Nagar style

(B) Hindu and Jain temples

(C) The interior is decorated with paintings only

(D) Temple is constructed on a tall and grand podium
(E) Meenakshi temple at Madurai is notable example

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

(2) (©), (D) and (E) Only

(3) (A) (D) Only

(4) (B) and (C) Only

Options:

878270153217. 1

878270153218. 2

878270153219. 3

878270153220. 4

Question Number : 95 Question Id : 87827038995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hel et & wic 1 wgE fasvast 1 fafga #ifea
(A) TR el @ frey

(B) feg MR I iR

(C) 3l YT &1 had Tesiehen 9 STesol

(D) Tifex faener IR =i difew w g fawan = #
() g = HIA&l Hict Uk SeciEa I8 B |
1= feu 7o fashedi § & Wa SO Skl 999 HIWT

(1) ad (A), (B) 3R (D)

(2) %9 (C), (D) ¥R (E)
(3) %ad (A) 3 (D)
(4) e (B) 3R (O)

Options :

878270153217. 1
878270153218. 2
878270153219. 3
878270153220. 4

Question Number : 96 Question Id : 87827038996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the famous paintings of Narayan Shridhar Bendre.
(A) The Sunflower

(B) The Threshing

(C) The journey’s End

(D) The cow and the calf

Choose the correct answer from the options given below :
(1) (D) and (B) Only

(2) (C) and (A) Only

(3) (B) and (C) Only

(4) (A) and (D) Only



Options :

878270153221. 1
878270153222. 2
878270153223. 3

878270153224. 4

Question Number : 96 Question Id : 87827038996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T FTER g o 9fEg ol ol ges ity
(A) 1§ 99 TR
B) fg afem
(C) Te =g ge
(D) &= we K %
=1 feu o fawedi § 9 W& ¥R 1 999 FHifa
(1) 9 (D) 3 (B)
) Fd (C) 3R (A)
(3) A (B) 3R (C)
) O (A) $ (D)

Options:

878270153221. 1
878270153222. 2
878270153223. 3

878270153224. 4

Question Number : 97 Question Id : 87827038997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the bronze statues of Greek art.

(A) Charioteer of Delphi

(B) Discobolos

(C) Doryphoros

(D) Praxiteles

(E) Athenian maidens

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

@ (), (O and (D) Only
(3) (C), (D) and (E) Only
(4) (E), (A) and (B) Only

Options:

878270153225. 1
878270153226. 2
878270153227.3
878270153228. 4

Question Number : 97 Question Id : 87827038997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T el 1 Fe g ) TeEr Fi
(A) =fEfER o F Sewt

(B) Te=mmE@™

(C) SHwRE

(D) HrERfeeH

(B) ufufs=d weg

% faw o famedt # § W TR F F9 FIAC -
(1) T (A), (B) 3R (C)

(2) = (B), (O) ¥R (D)

(3) ad (Q), (D) IR (E)

(4) 9 (E), (A) 3R (B)

Options :

878270153225. 1

878270153226. 2

878270153227. 3

878270153228. 4

Question Number : 98 Question Id : 87827038998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Select the artist of Pup Art movement ?
(A) Joan Miro

(B) Richard Lindner

(C) Andy Warhol

(D) Otto Mueller

(E) Jean Arp

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A), (€) and (D) Only
(4) (B), (D) and (E) Only

Options:

878270153229. 1
878270153230. 2
878270153231. 3

878270153232. 4

Question Number : 98 Question Id : 87827038998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fefafEa § 9 o9 el AiSed & STl F 999 Hifed
(A) S

(B) =g faie™

(C) UET ave

(D) Mgl e

(E) =4l 31

A few o faeredl § ¥ e SR @ =99 T
(1) I (A) 3R (B)

(2) = (B) 3R (O)

(3) a4 (A), (C) ¥R (D)

(4) 9 (B), (D) 3R (E)

Options :

878270153229. 1

878270153230. 2

878270153231.3

878270153232. 4

Question Number : 99 Question Id : 87827038999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the Artworks by Duchamp.
(A) Coffee mill

(B) Day light saving

(C) The Bride stripped by her Bachelor’s even

(D) The Fountain

(E) Tilled Field

Choose the correct answer from the options given below :
(1) (A), (C) and (D) Only

() (B), (C) and (D) Only

(3) (C), (D) and (E) Only

(4) (B), (D) and (E) Only

Options:
878270153233. 1
878270153234. 2

878270153235. 3
878270153236. 4

Question Number : 99 Question Id : 87827038999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g9 F FerFHfadl F geAH HIfAT
(A) HTH 0

(B) = e Hfem

(C) T e figwe 9@ & s=ed o
(D) fg wEeA

() feoe wiee

3 few U foeredl § § WE SR 1 =99 FIC -
(1) ad (A), (O) 3R (D)

(2) %99 (B), (C) &R (D)

(3) %A (C), (D) ¥R (E)

(4) %99 (B), (D) ¥R (E)

Options :

878270153233. 1

878270153234. 2

878270153235. 3

878270153236. 4

Question Number : 100 Question Id : 87827039000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Leonardo Da Vinci was famous as :

(A) Painter

(B) Sculptor

(C) Advocate

(D) Architect

(E) Actor

Choose the correct answer from the options given below :
(1) (B), (C) and (E) Only

(2) (A), (C) and (D) Only
(3) (A), (B) and (D) Only
(4) (B), (C) and (D) Only

Options:

878270153237. 1
878270153238. 2
878270153239. 3

878270153240. 4

Question Number : 100 Question Id : 87827039000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feaarre g fod form w9 W fazma 9 2
(A) TERR

(B) TR

(C) e

(D) STEFHAES

(B) &A=

A few o faeredl § ¥ e SR @ =99 T
(1) ad (B), (O) ¥R (E)

(2) % (A), (C) 3R (D)

(3) A (A), (B) 3R (D)

(4) 9 (B), (O) 3R (D)

Options :

878270153237. 1
878270153238. 2
878270153239. 3

878270153240. 4

Question Number : 101 Question Id : 87827039001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the paintings of Nandlal Bose.
(A) Mother and Child

(B) Karna worshipping the sun

(C) Vow of Bhishma

(D) Shiva Drinking Poison

(E) Krishna and Bal Ram

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only

(3) (C), (D) and (E) Only

(4) (A), (D) and (E) Only

Options:
878270153241. 1
878270153242. 2

878270153243. 3

878270153244. 4

Question Number : 101 Question Id : 87827039001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Feare 3 ¥ fesil # eaH Fifw
(A) A TTE TReS
(B) vl af¥ffym fg w9
(C) @ 3% s
(D) Tom= i =masH
(E) FU e T
% faw o famedt # § W TR F =TI FIAC -
(1) T (A), (B) 3R (C)
(2) = (B), (O) ¥R (D)
(3) ad (Q), (D) ¥R (E)
(4) A (A), (D) 3R (E)
Options :
878270153241. 1
878270153242. 2
878270153243. 3

878270153244. 4

Question Number : 102 Question Id : 87827039002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the Rasa from the following.

(A) Srinagar

(B) Utsaha

(C) Bhaya

(D) Vibhatsa

(E) Vismaya

Choose the correct answer from the options given below :
(1) (A) and (D) Only

(2) (B), (C) and (E) Only
(3) (C), (D) and (E) Only
@ (), (C) and (D) Only

Options:

878270153245. 1
878270153246. 2
878270153247.3

878270153248. 4

Question Number : 102 Question Id : 87827039002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fafafaa 5 9 ™ =1 989 Fifeu .
(A) IR

(B) Wm®

(C) Y4

(D) favwem

(E) faorg

3 few U foeredl § § WE SR 1 =99 FIC -
(1) e (A) (D)

() %99 (B), (C) IR (B)

(3) %A (C), (D) ¥R (E)

(4) %9 (B), (C) &R (D)

Options :

878270153245. 1

878270153246. 2

878270153247. 3

878270153248. 4

Question Number : 103 Question Id : 87827039003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Out of given methods of reproduction, Choose the most suitable printing processes for large number
of print production.

(A) Flexography
(B) Collography
(C) Lithography
(D) Offset

(E) Gravure
Choose the correct answer from the options given below :
(I) (A), (C) and (D) Only

0 B (0 md (D) Ol
(3) (), (D) and (E) Only
(4) (C), (D) and (E) Only

Options:

878270153249. 1
878270153250. 2
878270153251. 3

878270153252. 4

Question Number : 103 Question Id : 87827039003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



reerA o1 ffefia fafiel o afvmr dem ¥ weo s tq g sfaa Em v § 2
(A) TR

Options :

878270153249. 1
878270153250. 2
878270153251. 3

878270153252. 4

Question Number : 104 Question Id : 87827039004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Visual communication consist of following elements.

(A) Signs

(B) Symbols

(C) Music

(D) Typography

Choose the correct answer from the options given below :
(1) (B, (C) and (D) Only

(2) (A) and (D) Only

(3) (A), (B) and (D) Only

(4) (B) and (D) Only



Options :

878270153253. 1
878270153254. 2
878270153255. 3
878270153256. 4

Question Number : 104 Question Id : 87827039004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafas § 4 g ooy § #H-#1 afmfed €2

(A) Hehd
(B) Wik
(C) wid

(D) 2TEHITRI R el
) few o fomred § ¥ W SR 1 = T
(1) = (B), (C) ¥R (D)

) AW (A) (D)

(3) = (A), (B) 3R (D)

) ed (B) 3R (D)

Options:

878270153253. 1
878270153254. 2
878270153255. 3
878270153256. 4

Question Number : 105 Question Id : 87827039005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Visual quality of Art Nouveau are :

(A) Organic

(B) Geometric

(C) Plant like line

(D) Flowery

(E) Abstract

Choose the correct answer from the options given below :
(1) (B), (C) and (E) Only

(2) (A), (C) and (D) Only
(3) (A), (B) and (D) Only
(4) (A), (Q) and (E) Only

Options:

878270153257. 1
878270153258. 2
878270153259. 3

878270153260. 4

Question Number : 105 Question Id : 87827039005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1S AEl =l 97 e © ;

(A) Sifae

(B) AT

(C) Y& §g¥ Uy

(D) TSI/ FAFA

(E) omd

A e o foerel © § WE SR 1 9 FINTC
(1) = (B), (C) ¥R (E)

(2) FF (A), () #R (D)
(3) el (A), (B) 3R (D)
(4) Had (A), () 3R (E)

Options :

878270153257. 1
878270153258. 2
878270153259. 3
878270153260. 4

Question Number : 106 Question Id : 87827039006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Following are the parts of the Font Anatomy.

(A) Cross Bar

(B) Base line

(C) Shoulder

(D) Loop

(E) Capital

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (B), (D) and (E) Only
(3) (C), (D) and (E) Only
(4) (A), (C) and (D) Only

Options:

878270153261. 1
878270153262. 2
878270153263. 3

878270153264. 4

Question Number : 106 Question Id : 87827039006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FI=/ZR9EN T F YT HHA-H € 7
(A) FRIE IR

(B) ©IF wEA

(C) wiee

(D)

(E) hfqea

A few o faeredl § ¥ e SR @ =99 T
(1) *ad (A), (B) 3R (E)

(2) 9 (B), (D) IR (E)

(3) ad (Q), (D) ¥R (E)

(4) &9 (A), (C) ¥R (D)
Options :

878270153261. 1

878270153262. 2

878270153263. 3

878270153264. 4

Question Number : 107 Question Id : 87827039007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Advertising is considered to be :

(A) Art

(B) Science

(C) Hobby

(D) Business

(E) Exhibition

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2 (8), (O and (D) Only
(3) (C), (D) and (E) Only
(4) (A), (B) and (D) Only

Options:

878270153265. 1
878270153266. 2
878270153267. 3
878270153268. 4

Question Number : 107 Question Id : 87827039007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



9= =h1 AT S €

(A) el

(B) Tfogm

(C) =

(D) =AMR

(E) WevH

3 few U foeredl § § WE SR 1 =99 FIC -
(1) 9 (A), (B) TR (C)
(2) %99 (B), (C) &R (D)
(3) %A (C), (D) ¥R (E)
(4) A (A), (B) 3R (D)
Options :

878270153265. 1

878270153266. 2

878270153267. 3

878270153268. 4

Question Number : 108 Question Id : 87827039008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Artists who does not belong to Bat-Tala print making scene :
(A) Bampada Banerjee

(B) Gobindchandra Roy

(C) Nityalal Dutta

(D) Vasudeo H. Pandya

(E) Madhavchandra Das

Choose the correct answer from the options given below :
(1) (B), (C) and (E) Only

(2) (A) and (D) Only
(3) (A), (€) and (E) Only
(4) (A) and (B) Only

Options:

878270153269. 1
878270153270. 2
878270153271. 3

878270153272. 4

Question Number : 108 Question Id : 87827039008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafea § § %M @ AR o2 7o 31 i gvaeed ¥ gafia 2 €2
A) ST S

) faw o fomredt & | W SR B T FC
(1) %9 (B), (C) ¥R (E)

() FE (A) R (D)

(3) %ad (A), (C) ¥R (E)

(4) 9 (A) 3R (B)

Options :

878270153269. 1

878270153270. 2

878270153271. 3

878270153272. 4

Question Number : 109 Question Id : 87827039009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Artist who made print, on the similar title as ‘Bapuji’ ?
(A) Krishna Ahuja

(B) Nandlal Bose

(C) Mukul Day

(D) Lalit Mohan Sen

(E) Jaikrishna Agarwal

Choose the correct answer from the options given below :
(1) (A) and (E) Only

(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (B) and (C) Only

Options:

878270153273. 1
878270153274. 2
878270153275. 3
878270153276. 4

Question Number : 109 Question Id : 87827039009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafed § 8 $9-8 Farar A aIge S g s @ 31 Fersid 9iad i E 7

(A) O SRS

(B) Wﬁﬂa
()

(D) aﬁwn‘m@ﬂ
() THFW SE
e feu Tu fosredl § 9 WE ST &1 999 Fi
(1) 9 (A) 3R (E)
() @ (A) 3 (Q)
(3) 9 (B) &R (D)
(4) %99 (B) 3R (C)
Options :

878270153273. 1
878270153274. 2
878270153275. 3
878270153276. 4

Question Number : 110 Question Id : 87827039010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who among the artists were the members of ‘Group-8'.
(A) Jagdish Dey

(B) Paramjit singh

(C) Dattatreya Apte

(D) Lakshmi Dutta

(E) Jai Zharotia

Choose the correct answer from the options given below :
(1) (A) and (E) Only

() (A), (B) and (D) Only
(3) (C), (D) and (E) Only
(4) (B), (D) and (E) Only
Options :

878270153277. 1
878270153278. 2
878270153279. 3

878270153280. 4

Question Number : 110 Question Id : 87827039010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



freferfea Fererl § § FH-FF 98 F 9e= € ?
(A) SR

(B) Hwsa fog

(C) TieE e

(D) e ga

(E) @ sifedn

3 feaw U foeredl © § WE SR 1 =99 FIC -
(1) e (A) iR (E)

(2) %99 (A), (B) R (D)

(3) %9 (C), (D) ¥R (E)

(4) %99 (B), (D) ¥R (E)

Options :

878270153277. 1

878270153278. 2

878270153279. 3

878270153280. 4

Question Number : 111 Question Id : 87827039011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the metal engraving prints.

(A) The battle of the sea gods {(mantegna)

(B) Melancholia - [ (Durer)

(C) Adam and Eve (Durer)

(D) Saint Michael Slaying the Dragon (Durer)
(E) The Three trees (Rembrandt)

Choose the correct answer from the options given below :
(1) (A), (€) and (D) Only

(2) (A), (B) and (C) Only

(3) (B), (C) and (E) Only

(4) (B), (C) and (D) Only

Options:
878270153281. 1
878270153282. 2

878270153283. 3
878270153284. 4

Question Number : 111 Question Id : 87827039011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YTg IhI0 Bl oK1 Fe=H hIfeid |

(A) T difea =% fg € Igg (wier )
(B) fHam=RIfeaT - 1 (33W)

(C) TewH e @ (¥JW)

(D) He "z W & T (TIW)
() &g ()

A feu T okl o 9 W&t SO k1 =4 il ;
(1) = (A), (C) 3T (D)

(2) = (A), (B) ¥R (C)

(3) E (B), (C) ¥R (E)

(4) ¥ (B), (C) &R (D)

Options :

878270153281. 1

878270153282. 2

878270153283. 3

878270153284. 4

Question Number : 112 Question Id : 87827039012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the Sculptures of Ramkinkar Baij.
(A) Yaksh - Yakshini

(B) Fairy tales of Purva-palli

(C) Trimph of Labour

(D) Call of the mill

(E) Santhal family

Choose the correct answer from the options given below :
(1) (A), (O, (E) Only

() (8), (O), (D) Only

(3) (A), (D), (B) Only

(4) (), (D), (E) Only

Options:
878270153285. 1
878270153286. 2

878270153287. 3
878270153288. 4

Question Number : 112 Question Id : 87827039012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) FG-IfEof

(B) WHIlCE™ 3% Jali-deoil
(C) ZFF &I e

(D) T 3% Tg e

(E) W&l e

A faw o faredl § ¥ wE R @ =99 FifC
(1) = (A), (O), (B)

(2) = (B), (C), (D)

(3) A (A), (D), (E)

(4) *=d (), (D), (B)
Options :

878270153285. 1

878270153286. 2

878270153287. 3

878270153288. 4

Question Number : 113 Question Id : 87827039013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the Sculptures of Dhanraj Bhagat.
(A) Monarch (Wood and welded metal)

(B) Before a fall (wood)

(C) Teeming millions (lead)

(D) Bride (wood)

(E) Cosmic Energy (copper)

Choose the correct answer from the options given below :
(1) (B), (C), (D) Only

() (), (D), (E) Only

(3) (A), (B) (E) Only

4) (A), (D), (E) Only

Options:
878270153289. 1
878270153290. 2

878270153291. 3

878270153292. 4

Question Number : 113 Question Id : 87827039013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



HUS T Rl Hiddi Rl YEETE i ;

(A) TR (FTS TH 908 U

(B) fa®R T ®™ (1)

(C) 2ifew faferdy (swi=rsiam)

(D) dMEE (hS)

(E) =hifCeh it (<TH)

i feu T fashedi § 9 Wt SO 1 T4 Hifed
(1) ==d (B), (O), (D)

(2) e (O), (D), (B)
(3) %ad (A), (B), (E)
(4) e (A), (D), (E)

Options :

878270153289. 1
878270153290. 2
878270153291. 3
878270153292. 4

Question Number : 114 Question Id : 87827039014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the Print makers who also work in Bronze.
(A) Sanat kar

(B) L.M. Sen

(C) Laxma Gaud

(D) Sommnath Hore

Choose the correct answer from the options given below :
(1) (A), (B) Only

(2) (B), (C) Only

(3) (A), (D) Only

4) (Q), (D) Only



Options :

878270153293. 1
878270153294. 2
878270153295. 3
878270153296. 4

Question Number : 114 Question Id : 87827039014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
3 o191 a1 Y29 Shifsre i1 i i & foru off s o
(A) HAd R

(B) TA.TH. ¥
(C) wem g
(D) THNY EX
A feu o famredi § @ W@ SO 1 99 Ff
(1) = (A), (B)
(2) e (B), (O)
(3) I (A), (D)
(4) I (Q), (D)
Options:

878270153293. 1
878270153294. 2
878270153295. 3
878270153296. 4

Question Number : 115 Question Id : 87827039015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the Sculptors also known for photography.
(A) Raghav Kaneria

(B) Shiv Singh

(C) Himmat Shah

(D) Pushpmala

Choose the correct answer from the options given below :
(1) (A), (B) Only

(2) (), (C) Only

(3) (C), (D) Only

(4) (A), (D) Only

Options:

878270153297. 1

878270153298. 2

878270153299. 3

878270153300. 4

Question Number : 115 Question Id : 87827039015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
3 AihRl bl T HISTC Sl SR & fo «ff & 9 € 2
(A) T=E FHARE
(B) fu= fo
(C) fewmeme
(D)  IHHTR
= feu v fasredi § 9 9 3O & =994 i -
() < (A), (B)

(2) 9 (B), (C)
(3) ad (C), (D)
4) = (A), (D)

Options :



878270153297. 1
878270153298. 2
878270153299. 3

878270153300. 4

Question Number : 116 Question Id : 87827039016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) Chanderi (I) Odisha
(B) Patola (lI) Bengal
(C) Ikkat (IlI) Gujarat
(D) Jamdani (IV) Madhya pradesh

Choose the correct answer from the options given below :
(1) (A, (B)~(I), (O)-(IV), (D)-(IT)

(2)  (A)-(IV), (B)-(IL), (O)-(D), (D)-(1D)

(3)  (A)-(D), (B)-(I), (COH(IV), (D)-(I)

(4) (A1), (B)-1), (O, (D)-AV)

Options :

878270153301. 1

878270153302. 2

878270153303. 3

878270153304. 4

Question Number : 116 Question Id : 87827039016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Hel-1 § geA-11 =1 e #ifeg

Tl-1 -1
(A) =eh ) enfesm
(B) eI (II) e
(C) zoRd (1) T
(D) ST (IV) HeATRS

A= feu v fasredi § 9 9 39 &1 994 Fife
(1) (A, (B)-(D), (C(IV), (D)-(IT)
(2)  (A)-(IV), (B)-(II), (O)-(L), (D)-(I)
() (A)-(D), (B)-(), (O(1V), (D)-(1I)
(4)  (A)-(ID), (B)-(), (O)~(II), (D)-(IV)
Options:
878270153301. 1
878270153302. 2
878270153303. 3

878270153304. 4

Question Number : 117 Question Id : 87827039017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Rasa ()  Transient emotions
(B) Vibhava (II) Karuna
(C) Acting (III) Angika

(D) Vyabhicharibhava (IV) Alambana

Choose the correct answer from the options given below :
(1) (A, (B, (O-(IL), (D)-(IV)

(2) (A1, B)-QV), (O-(ID, (D)-()

(3)  (A)-(IV), (B)-(I), (O)-(1L), (D)-()

(4)  (A)-(II), (B)~(ID), (C)-(I), (D)-(IV)



Options :

878270153305. 1
878270153306. 2
878270153307. 3

878270153308. 4

Question Number : 117 Question Id : 87827039017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .
-1 -1
(A) ™ () s wAE
(B) faumE (II) /&M
(C) sAfvTa (I11) ST
(D) AT=ERYE (IV) T

A= feu v fasredi § 9 9 39 &1 994 Fife
(1)  (A)D, (B)-(II), (C)-(II), (D)-(IV)

(2)  (A)-D), (B)-(IV), (O)-(I1D), (D)-(T)

(3)  (A)-(1V), (B, (O)-(1D), (D)-(0)

(4) (A1), (B)«ID), (©)-(), (D)-(V)
Options:

878270153305. 1
878270153306. 2
878270153307. 3

878270153308. 4

Question Number : 118 Question Id : 87827039018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) Bhubaneshwar (I) Kandariya Mahadev
(B) Khajuraho (I) Ananta Vasudev Temple
(C) Mahabali puram (III) Kailash Temple
(D) Ellora (IV) Draupadi Rath

Choose the correct answer from the options given below :
(D) (A)-IV), (B)-(1D), (O)-(D), (D)-(II)

() (A1), B)-(ILD, (©)-(IV), (D)-()

(3) (), B, ©)-(1V), (D)-()

(4) (A1), (B)-(I), (O)-(1V), (D)-(II)

Options :

8782701533009. 1

878270153310. 2

878270153311.3

878270153312. 4

Question Number : 118 Question Id : 87827039018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hel-1 § geA-11 =1 e #ifeg

-1 GE-11
(A)  YIITR () @hela Heed
(B) Rl (I) 37 IS A
(C) WeEeqH (IIT) “Feme HicT
(D) TR (IV) BI9et 19

A= feu v fasredi § 9 9 39 &1 994 Fife
(1) (A)-IV), (B)-(II), (C)-(1), (D)~(I)
(2)  (A)-(1D), (B)-(ILD), (C)-(1V), (D)-()
(3) (A=), (B)-(11), (©)-(1V), (D)-(I)
(@) (AW, B)-0), (C)-1V), (D))
Options:
8782701533009. 1
878270153310. 2
878270153311. 3

878270153312. 4

Question Number : 119 Question Id : 87827039019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Cubism () 1853
(B) Salon De Refuses (If) 1907
(C) Van Gogh (III) 1916
(D) Dadaism (IV) 1863

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(D), (C)-(LL), (D)-(1I)
(2) (A1), (B)-(IV), (C)-(I), (D)~(1II)
(3)  (A)-(I), (B)-(1V), (O)~(1L), (D)-()
(4)  (A)-(I), (B)-(LI), (C)-(IV), (D)-(II)



Options :

878270153313. 1
878270153314. 2
878270153315. 3
878270153316. 4

Question Number : 119 Question Id : 87827039019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .

-1 -1
(A) =74 () 1853
(B) ¥HeH fg s () 1907
(C) =F 7w (I) 1916
(D) <EER (IV) 1863

9 fou 7o fomredi § | el 3T 1 = HifWT
(L) (AAIV), (B)~(I), (C)-(I), (D)-(IT)

(2)  (A)-1D), (B)-(IV), (O)-(D), (D)-(1II)

(3) (A=), (B)-(1V), (O)-(11), (D)-()

(4)  (A)-(D), (B)-(I), (C(IV), (D)-(I)
Options:

878270153313. 1

878270153314. 2

878270153315. 3

878270153316. 4

Question Number : 120 Question Id : 87827039020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List-1 List - II
(A) Kerning (I)  Letters having uniform strokes
(B) Leading (II) Measurement unit for length in Typography
(C) Leneal (I

) Adjusting space between two letters
Pica (IV)

(D) Spacing between lines of type
Choose the correct answer from the nptinns given below :

(1) (A, B, (©)-(1), (D)-[V)
(2) (A, (B)I), (C)-(L), (D)-(IV)
(3)  (A)II), (B(IV), (O)-(I), (D)-(L)
(4)  (AD), (B}(I), (C-(IV), (D))
Options :

878270153317. 1
878270153318. 2
878270153319. 3

878270153320. 4

Question Number : 120 Question Id : 87827039020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Geit-1 | gt-11 1 e =ifs

El-1 HE-11
(A) AT () GHE S () 91 S8R
(B) efifET () 2T H oSS Y g
(€) o () < 31eli & o9 & WM % G
(D) fieht (IV) 2729 & Al & o L F4rsH
= fou o fosredi § 9 |E IO & 999 Fif0

(1) (A)-(1D), B)-I), (©)-@), (D)-(V)
(2)  (A)-(I), (B)-(D), (C)}-(I), (D)-(LV)
(3)  (A)-(), (B)-(IV), (OH1), (D)-(IN)
4)  (A)-(0), (BI), (O-(IV), (D)-(I)
Options:

878270153317. 1

878270153318. 2

878270153319. 3

878270153320. 4

Question Number : 121 Question Id : 87827039021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Rignlet ()  Modern Serif
(B) Futura (II) Decorative
(C) Baskerville (IlI) Sans Serif
(D) Bodoni (IV) Transitional Serif

Choose the correct answer from the options given below :
() (A1), (B)-(IV), (C)-(I), (D)~(1II)
(2) (A1), (B)-(II), (O)-(IV), (D)~(11I)
(3)  (A)ID), (B)-(IL), (C)-(IV), (D)-(I)
(4)  (A)-(II), (B)-(IV), (C)-(1T), (D)-(I)



Options :

878270153321. 1
878270153322. 2
878270153323. 3
878270153324. 4

Question Number : 121 Question Id : 87827039021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Geit-1 | gt-11 1 e =ifs
-1 HE-11
(A) etz (1) T 3w
(B) WHU (1) SfeishucH® (Shifed)
(C) @mERfaa (1) H9 Hiw
(D) SEH (IV) T R (ZFerea 9R%)
7 feu o fomedl # 9 W& SO 99 FIfE

(1) (A1, B)-IV), (O)-0), (D))
@ (AHD, (BRI, (O-QV), (D))
(3) (AW, (B)-, (©)-QV), (D))
(4) (A, (B)-(IV), (O1D), (D)-()
Options :

878270153321. 1

878270153322. 2

878270153323. 3

878270153324. 4

Question Number : 122 Question Id : 87827039022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) ‘Jane Avvil (Iy Carrol Summers
(B) ‘Untl Death’ (II) Otto Dix
(C) ‘The War (II) Fransisco De Goya
(D) Woodcut (IV) Toulouse Lautrec

Choose the correct answer from the options given below :
(1) (A)-(), (B)-(1), (CO)-(1V), (D)-(I)
() (A)HI), (B)-(IV), (O, (D)

) )
(3) (A, (B)-(1V), (O)-(1), (D)-(IL)
(4) (A)-(1V), (B)-(II), (O)-(1D), (D)-(I)
Options :

878270153325. 1

878270153326. 2

878270153327.3

878270153328. 4

Question Number : 122 Question Id : 87827039022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hel-1 § geA-11 =1 e #ifeg

-1 GE-11
(A) S Ui () U gHg
(B) wf=dl 29 (1) e feam
() feam (1) witeEen fg 7Trn
(D) 9IS (IV) TS Wi

A= feu v fasredi § 9 9 39 &1 994 Fife
(1) (A, (B)-(D), (C(IV), (D)-(IT)
(2)  (A)-(L), (B)-(IV), (O)-(1D), (D)-(I)
(3) (A1), (B)-(IV), (O)-(D), (D)-(1I)
(4) (A)-(1V), (B)-(IIL), (O)-(1D), (D)-(I)
Options:
878270153325. 1
878270153326. 2
878270153327. 3

878270153328. 4

Question Number : 123 Question Id : 87827039023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Tympan (I) Intaglio
(B) Blanket (I) Serigraphy
(C) Master copy (IIl) Lithography
(D) Burr (IV) Offset Press

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(D), (C)-(II), (D)~(11I)
(2)  (A)-(IV), (B)-(IIL), (C)~(I), (D)-(IT)
(3) (A)-(I), (B)-(1V), (O)~(1L), (D)-()
(4)  (A)-(ID), (B)-(I), (C)-(IV), (D)~(II)



Options :

878270153329. 1
878270153330. 2
878270153331. 3

878270153332. 4

Question Number : 123 Question Id : 87827039023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .
-1 -1
(A) fermm O zfo
(B) wihe (II) EfmH
(C) T2 it (1) fAgmome (foremggo)
(D) (IV) 3ifmEE U9

A= feu v fasredi § 9 9 39 &1 994 Fife
(1) (A)-(IV), (B)~(I), (C)-(II), (D)~(I)

(2)  (A)-(1V), (B)-(II), (O)-(T), (D)-(I)

() (A)-(L), (B)-(1V), (O)-(11), (D)-()

(4) (A)-(1), (B)-(I), (C)-(IV), (D)~(11)
Options:

878270153329. 1
878270153330. 2
878270153331. 3

878270153332. 4

Question Number : 124 Question Id : 87827039024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Match List - I with List - II.

List - I List - II
(A) Auguste Rodin (I) Cubism
(B) Pablo Picasso () Impressionism
(C) Bernini (III) Early Renaissance

(D) Lorenzo Ghiberti (IV) Baroque Art

Choose the correct answer from the options given below :
(1) (A)-(ID, (B)-), (O)-(0), (D)-(IV)

(2)  (A)-(D), (B)-(ILI), (C)-(IV), (D)-(II)

(3)  (A)-ID), (B)-(1V), (O)-(I1L), (D)-(D)

(4)  (A)-(ID), (B)-(I), (C)-(IV), (D)-(I)

Options :

878270153333. 1

878270153334. 2

878270153335. 3

878270153336. 4

Question Number : 124 Question Id : 87827039024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hel-1 § geA-11 =1 e #ifeg

-1 T
(A) STTE U () =g
(B) rscil ToerT () gYr=Erg
(C) @t (III) YR TSR
(D) wISH et (IV) SRk kel

A= feu v fasredi § 9 9 39 &1 994 Fife
(L) (A, (B)-(), (©)-), (D)-(IV)
(2)  (A)-D), (B)-(L), (C)-(IV), (D)-(IT)
(3) (A1), (B)-(1V), (O)-(11D), (D)-(I)
(@) (AW, B)-1), (C)-1V), (D))
Options:
878270153333. 1
878270153334. 2
878270153335. 3

878270153336. 4

Question Number : 125 Question Id : 87827039025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL.

List - I List - II
(A) Maurya period () 184 -72 BC
(B) Shunga period (If)y 319 C-600C
(C) Gupta period (II1) 550 C - 642 C

(D) Chalukya period (IV) 325 - 184 BC

Choose the correct answer from the options given below :
(1) (A-QV), (B)(D), (©-(I), (D)-(I)

@) (A0, (BHIV), ©-(I), (D)-(I1)

(3)  (A)-IV), (B)-(I), (O)-(D), (D)-(1D)

(4)  (A)-(I), (B)-(I), (C)~(II), (D)-(IV)



Options :

878270153337. 1
878270153338. 2
878270153339. 3
878270153340. 4

Question Number : 125 Question Id : 87827039025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 frer shifs .

Tl-1 -1
(A) 4 HTeA () 184-72BC
(B) YT I (1) 319 C- 600 C
(C) T[T FA (Ill) 550 C - 642 C
(D) =IH A (IV) 325 - 184 BC

9 fou 7o fomredi # | Wl 3T 1 = HifWT
(L) (AAIV), (B)~(I), (C)-(IT), (D)-(II)

(2)  (A)-(D), (B)-(IV), (C)-(ID), (D)-(1)

(3)  (A)-(1V), (B, (O)-(1), (D)-(I)

(@) (A1), (B)-(1), (O~), (D)-(IV)
Options:

878270153337. 1

878270153338. 2

878270153339. 3

878270153340. 4

Question Number : 126 Question Id : 87827039026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Select the chronology of the following Tiziano Vecelli’s paintings.
(A) Worship of Urbino

(B) Rape of Europa

(C) Adam and Eve

(D) Pieta

Choose the correct answer from the options given below :
(1) (A), (D), (©) and (B)

(2) (D), (O), (B) and (A)

@) (©), (B), (A) and (D)

4) (A), (B), (C) and (D)

Options:

878270153341. 1

878270153342. 2

878270153343. 3

878270153344. 4

Question Number : 126 Question Id : 87827039026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fefafaa fefsami afafora f==i % Femra 1 ==[ Fife
(A) =fSg sw 3fe
(B) Y9 A AW
(C) T=H e 34
(D) reer
A feu T ferpedi ® @ W& 3T 1 =T Hif0
(1) (A), (D), (O I (B)
2 @) (O), (B) 3R (A)
(3) (O, (B), (A) &R (D)
4) (A), (B), (O 3R (D)



Options :

878270153341. 1
878270153342. 2
878270153343. 3
878270153344. 4

Question Number : 127 Question Id : 87827039027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct chronology in regards to the development of the Kudu (horseshoe arches) in
mamalla style.

(A) Madurai

(8) Pandyan

(C) Chola

(D) Vijayanagar

(E) Pallava

Choose the correct answer from the options given below :
(©) ), (), () and (A

()

@ (B @, (B) (D) and (A)
(3) (A) (B) (D) (E) and (C)
(@) (A) (©) (E), (D) and (B)
Options :

878270153345. 1
878270153346. 2
878270153347. 3

878270153348. 4

Question Number : 127 Question Id : 87827039027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e Yol § £ (Y TS ¥ fas ¥ 9§ uet Fem @ 9 Fi

(A)

(B) wifvzzH

(C) =

(D) fasETR

() Yoo

A= feu U foshedl # 9 W@ SR 61 997 HIT
(1) (©) () (D), (B) #(A)
() (B), Q) (B) (D) IR (A)
(3) (A), (B), (D), (E) &R (C)
(4 (A),(C), (B), (D) 4R (B)
Options :

878270153345. 1
878270153346. 2
878270153347. 3
878270153348. 4

Question Number : 128 Question Id : 87827039028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Choose the correct chronology of the following texts.
(A) Upanishad
(B) Aranvak
(C) Ved
(D) Ramayan
Choose the correct answer from the options given below :
(1) (D) (©, (&), B)
) (A), B), (©), (D)
() (@), D) A), ©
) (©), (B), (A), (D)



Options :

878270153349. 1
878270153350. 2
878270153351. 3

878270153352. 4

Question Number : 128 Question Id : 87827039028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
frefafes el & WE FIetsrd 1 =2 Hfe
(A) wfog
(B) &{TgH
(C) ==
(D) THET
1 e T Ferenli @ W SO 1 S A ¢
() (D) (©), (A) (B)
@ (4), @), (), (D)
3 (), (D), (A), ©
(4) (O, (B) (A) (D)
Options:
878270153349. 1
878270153350. 2
878270153351. 3

878270153352. 4

Question Number : 129 Question Id : 87827039029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Select correct chronology of the following artist.
(A) Raphael

(B) Leonardo Da Vinci

(C) Michelangelo

(D) Correggio

Choose the correct answer from the options given below :
(1) (B), (Q), (A), (D)

(2) (B), (A), (©), (D)

3) (D) (A), (B), (O

4) (©), (B), (A) (D)

Options:

878270153353. 1

878270153354. 2

878270153355. 3

878270153356. 4

Question Number : 129 Question Id : 87827039029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiaa =eterrdl o S8l Ttk o =97 I
(A) THA

(B) ferarrel a1 fa=di

(C) WrEsheref-fel

(D) ISl

= feu v fasredi § 9 9 3O & =994 i -

() (B), (Q) (A) (D)
(2)  (B), (A), (©), (D)
(3) (D) (A) (B), (O
4) (©), (B) (A) (D)

Options :

878270153353. 1



878270153354. 2
878270153355. 3
878270153356. 4

Question Number : 130 Question Id : 87827039030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the process of Poster Design in correct chmnalagical sequence.
Prepare wmkmg rc}ugh from the selected thumb nail

B) Prepare actual size finished Art work

(
(
(C) Translate ideas into visual form
(D) List some probable caption

(E) Handle the Artwork and print it with most suitable printing process.
Choose the correct answer from the options given below :

1) (A) (C), (B), (E), D)

(2) (D) (C), (A), (B) (E)
3)  (A) (D), ©), (B) (E)
(4) (D) (B) (A), (C) (E)
Options :

878270153357. 1
878270153358. 2
878270153359. 3
878270153360. 4

Question Number : 130 Question Id : 87827039030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



g fesmaa ot Ufehan sl Gel shieishn H SZefeerd whifs
(A) IS T ¥ e TWEY ddR H |

(B) dTEdfdIeh SRR I JU1 Falrhid dar AT |

(C) To=mi 1§98 &9 H 2/l

(D) F© HuIfad AeideR T2 T

(E) SheTehfd ohl GHTEHT 3R 3Uge 191 Ufshal © SI9T |
1< fou U forredi § | W& ST A 999 HifGT

() (A) (Q), B), E), (D)
(2) (D) (O) (A), (B), (E

) ) )
(3) (A), (D), (©), (B), (E)
4) (D) (B), (A), (C), (E)
Options:

878270153357. 1

878270153358. 2

878270153359. 3

878270153360. 4

Question Number : 131 Question Id : 87827039031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange n correct du'mlnlﬂgifal sequence as per invention of writing.
A) Papyrus and writing

B) Romanesque Gothic manuscript

D) Gutenberg’s movable type
E) Latin Alphabet
Choose the correct answer from the options given below :

(1) (A), (B), (©) ), D

(
(
(C) Egyptan Hieroglyphs
(
(

) (D)
2 Q) (&), E), (B) D)
3 @A) Q) (B) E) D)
4) (©, (E), (A), (B), (D)



Options :

878270153361. 1
878270153362. 2
878270153363. 3
878270153364. 4

Question Number : 131 Question Id : 87827039031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
@A HAfTSRR % STTHR HEl Hiohd H Safed Fifsg
(A) UFRE 3R @aEq
(B) I Tiifees qrgfafa

(C) Tag =i eRUfaw
AT T e 25T
(E) tifed Uewrsie

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) (A), (B), (©), (E), (D)

(2 (©), (A) [E), (B), (D)
(3)  (A), (©), (B), (E), (D)
4)  (©), (B) (A), (B), (D)
Options:

878270153361. 1
878270153362. 2
878270153363. 3
878270153364. 4

Question Number : 132 Question Id : 87827039032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange in Sequence keeping in mind to the Japanese ‘Ukiyo-e’ print trade of Japan.
(A) Carving the design

(B) Transferring the Image

(C) Printing

(D) Publishing

(E)  Selecting the Artist

Choose the correct answer from the options given below :

(1) ®) (4) ©), O) (E)
(

2) (B) (B) (4), (©), D)
B) (&) () E) B) D)
(4) (D) (B) (B) (A) (€
Options:

878270153365. 1
878270153366. 2
878270153367. 3

878270153368. 4

Question Number : 132 Question Id : 87827039032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST FfeRa1-3 (Ukiyo-e) BT FRIGR 1 &0 | TEd 5T el 9 H e s :
(A) festom & IehivH

(B) T3 1 TG

(C) T&m

(D)

(E) Eﬁam@swwm

e few o foedi § 9 W& SR T FIC ;

1) (B) (A) ©) D) (E)
2)  (E), (B) (A) (©), (D)
3)  (A) (Q), (E), (B),

) (

( O
(4) (D)
(D), (E) (B), (A) (C

)



Options :

878270153365. 1
878270153366. 2
878270153367. 3
878270153368. 4

Question Number : 133 Question Id : 87827039033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange in chronological sequence according to the Birth year.
(A) Fransisco Goya

(B) Rembrandt

(C) Andrea Mantegna

(D) Albrecht Durer

(E)  William Hogarth

Choose the correct answer from the options given below :

(M (B), (O, (B), (D), (A)

2 (A)(©), D), (E) (B)
(3)  (©), (D) (B), (E) (A)
4) (D) (C), (B), (A), (E)

Options:

878270153369. 1
878270153370. 2
878270153371. 3

878270153372. 4

Question Number : 133 Question Id : 87827039033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S G4 o STTHR FEl HIoishH H SAfd Hif
(A) WRIFEEeR! TE

(B) il

(C) 3fig Hiew

(D) ¥ YR

(E) faferam gmd

<1 feu T faepedi § 9 We SOY 1 99F i
(1) (B), (©), (E), (D), (A)

2) (A) (©), (D), (E), (B)

(3) (©), (D), (B), (E), (A)

4) (D) (O (B), (A) (E)

Options:

878270153369. 1

878270153370. 2

878270153371. 3

878270153372. 4

Question Number : 134 Question Id : 87827039034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following artists in chronological order.
(A) Sankho Chaudhari

(B) Satish Gujral

(C) Somenath Hore

(D) Amarnath Sahgal

Choose the correct answer from the options given below :
(1) (&), (©), (D) (B)

(2) (©), (A), (B), (D)

(3) (D) (A), (Q) (B)

4) (B), (A), (C), (D)

Options :



878270153373. 1
878270153374. 2
878270153375. 3

878270153376. 4

Question Number : 134 Question Id : 87827039034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fefafea wemsl & T8l FeEy & 997 Fife -

(A) wiEl =
(B) T TSI
(C) HHTY BN

(D) HAHEAE He'lld

) few U ferredi § @ W SR B A F
() A) ©), (D), (B)

(2)  (©), (A), (B), (D)

(3) (D) (A) (O (B)

(4) (B), (A), (O, (D)

Options :

878270153373. 1

878270153374. 2

878270153375. 3

878270153376. 4

Question Number : 135 Question Id : 87827039035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Select the chronology of Bronze casting process.
(A) Spruing and Venting arrangements

(B) Patination

(C) De-waxing

(D) Modelling

(E) Waxing

Choose the correct answer from the options given below :
(1) (D), (E), (A), (C), (B)

(2) (D), (A), (E), (©), (B)

(3) (E), (A), ©), (B), (D)

(4) (A), (B), (D), (C), (E)

Options:

878270153377. 1
878270153378. 2
878270153379. 3

878270153380. 4

Question Number : 135 Question Id : 87827039035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FI Tells Uikl o FoRT &1 997 I
(A) T uoe dfén ey

(B) TfeAvH
(C) Er-afem
(D) HiefeT
(E) Sfe

4= feu 7o fosredi § | W& SO &1 =94 iU
(1) (D), (E), (A), (), (B)
(2) (D) (A), (E), (©), (B)
(3) (E), (A), (©), (B), (D)
(4) (A), (B), (D), (), (E)



Options :

878270153377. 1
878270153378. 2
878270153379. 3
878270153380. 4

Question Number : 136 Question Id : 87827039036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Real creative advertising requires skill to tell about a good product honestly,
convincingly and excitingly

Reason (R):  All the product advertising tells honestly about product which is advertised

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270153381. 1

878270153382. 2

878270153383. 3

878270153384. 4

Question Number : 136 Question Id : 87827039036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A & o e T € e afemet (A) % w9 ¥ et & o g SHeE RO (R)F E9 A T
AR (A) : T ST T (T # SRR fovaT T SR S T e e ¢
FOOTR): W I o oo TR S o A SHIRER ol e S 2
T e el §, A fou ke 4 W ¥ A Fifo

(1) S (A) 3 (R) 57 & ST (R), (A) F 9@ 0 §

(2) T (A) o (R) T € <A (R), (A) F1 e T

(3) (A)¥ & Tl (R) 79 €

(4) (A) %9 § R (R) T &

Options:

878270153381. 1
878270153382. 2
878270153383. 3
878270153384. 4

Question Number : 137 Question Id : 87827039037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The process of painting is completed after painting then framing
Statement (II) : Framing is not necessary for painting

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect
(3

(

4) Statement I is incorrect but Statement II is correct

) Statement I is correct but Statement II is incorrect

Options :
878270153385. 1
878270153386. 2

878270153387. 3



878270153388. 4

Question Number : 137 Question Id : 87827039037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

:ﬁ%ra’fwﬁzqw%‘

@A (1) : o= qui B9 1 ufshan, 9ect Fost Tmfon, qeqwend ST § Biel ¢ |
&Y (11) : o o fo S sravas & 2

IR FUA & 3T °, A9 fou mu fagedi § 4 |9 39 = $ife
(1) AT AR HAT I TH 97 §

(2) HATI AN HAT I I 50 €

(3) AT TA T, Tfchd T I 39 ©

(4) FHATIHEA T, AfFT KT TA &

Options :

878270153385. 1

878270153386. 2

878270153387. 3

878270153388. 4

Question Number : 138 Question Id : 87827039038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : The treatise “Kavyalankar Sutravatti” was written by the literacy critic Nagnajit.

Statement (II) : The critic of “Kavyalankar Sutravatti” has propounded that style is the soul of
poetry

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270153389. 1

878270153390. 2

878270153391. 3

878270153392. 4

Question Number : 138 Question Id : 87827039038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

%@Wﬁ?m{%:

T (1) ' FOACRR G Y Wil el T g fot T e

U (1) : ' FIAEER GG F e 3 Waued & fF 9 Fea # e g
TR M & e H, A fou M forredi § § wE SR Hif

(1) YR 1 3R e 11T 7 %

() HUA 1R R I T €
(3) TR IHA €, oife T I 378 ©
(4) YA I 3G ¢, olfed HUF I T €
Options :

878270153389. 1

878270153390. 2

878270153391. 3



878270153392. 4

Question Number : 139 Question Id : 87827039039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : The system of validating through signature using using pencil underneath the
printed image make it original work of Art
Reason (R):  The signature is not mandatory to Consider a print as an original art form

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3)  (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270153393. 1

878270153394. 2

878270153395. 3

878270153396. 4

Question Number : 139 Question Id : 87827039039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A% 3 e e o € o e (A) % w9 fetf & o o S 0T (R) F WA
WA (A): =1 Fora o i e B SRR F B oA TOTH Fenl o M T a9 < ¢
FROTR): B o o e T O o e g sfar A €

TN F & e 1, 9 fow o foered # @ wE I i

(1) S (A) 3R (R) T € SR (R), (A) FI T8 T4 §

(2) T (A) 3R (R) T € T (R), (A) F TE S
(3) (A) 5 & Wl (R) 59

(4) (A) 9 & WA (R) T R

Options:

878270153393. 1

878270153394. 2

878270153395. 3

878270153396. 4

Question Number : 140 Question Id : 87827039040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : Sculpture is a three dimensional form and one can see from all the sides
Statement (II) : Relief Sculpture is not three dimensional because we cannot see from all the sides

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement I is incorrect
(

Options :

878270153397. 1

878270153398. 2

878270153399. 3



878270153400. 4

Question Number : 140 Question Id : 87827039040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁawmﬂﬂ?:

@A (1): fwan T e w9 & AR 5 femerl & 36a e fo 1 9ed &
T (L) : el it s =2 2 it o vl fewnadl @ S se & T
I oM o S °, A fou e fawedi § 9 wE I T #ife

(1) e 13 Hem 1S 77 §

() FFIANFRILT 5 ¢
(3) YR 1 e &, iR o 11 o ©
(4) HEIHE E A RN T R
Options :

878270153397. 1

878270153398. 2

878270153399. 3

878270153400. 4

Sub-Section Number : 2
Sub-Section Id : 8782701639
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827039041 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



MAIN PICTURE FOR

A

Sub questions

Question Number : 141 Question Id : 87827039042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which place does the facade of the following monument depict ?
(1) Karle

(2) Elephanta

(3) Ajanta
(4) Ellora
Options :

878270153401. 1
878270153402. 2
878270153403. 3

878270153404. 4

Question Number : 142 Question Id : 87827039043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

In which state is this monument situated ?
(1) Andhra pradesh

(2) Madhya pradesh

(3) Maharashtra

(4) Karnataka

Options :

878270153405. 1

878270153406. 2

878270153407. 3

878270153408. 4

Question Number : 143 Question Id : 87827039044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following faith is this monument a glorious example of ?

(1) Shaivism

(2) Mahayana Chaitya
(3) Hinyana Chaitya
(4) Jainism

Options :

8782701534009. 1
878270153410. 2
878270153411. 3

878270153412. 4

Question Number : 144 Question Id : 87827039045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the fnllnwmg re]iginn does this monument represent ?

(1) Shaivism

(2) Buddhism
(3) Jainism

(4) Vaishnavism

Options:

878270153413. 1
878270153414. 2
878270153415. 3

878270153416. 4

Question Number : 145 Question Id : 87827039046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the period of execution of the monument :

(1) Gupta
(2) Mauryan
(3) Pallava
(4) Kushana
Options :

878270153417. 1
878270153418. 2
878270153419. 3

878270153420. 4

Question Id : 87827039041 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



MAIN PICTURE FOR

Sub questions

Question Number : 141 Question Id : 87827039042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafEs T #1 smy foFg T 51 gt 22

(1) =
(2) ke
(3) TSI
(4) TEm
Options :

878270153401. 1
878270153402. 2
878270153403. 3

878270153404. 4

Question Number : 142 Question Id : 87827039043 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g TR forg Ty ¥ feem © 2

(1) Y g

(2) WA WY

(3) WY

(4) FAEF
Options :

878270153405. 1
878270153406. 2
878270153407. 3

878270153408. 4

Question Number : 143 Question Id : 87827039044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e T frefefad § 9 forg seen &1 9T9eR 3SR & 7

(1) 99 95

(2) WHEEH =

(3) A =

(4) S o
Options:

8782701534009. 1
878270153410. 2
878270153411. 3

878270153412. 4

Question Number : 144 Question Id : 87827039045 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I8 W fafafea 5 9 forg o =1 wfafafece s &2

(1) 99 95
2 IS
(3) S uH
(4) FuE gH
Options :

878270153413. 1
878270153414. 2
878270153415. 3
878270153416. 4

Question Number : 145 Question Id : 87827039046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

() T4
(2) wH
(3) Heod
(4) Fa
Options:

878270153417. 1
878270153418. 2
878270153419. 3
878270153420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701640

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Id : 87827039047 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension

Picture For

Sub questions

Question Number : 146 Question Id : 87827039048 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which museum the given painting is housed ?
(1) AIFACS

(2) NGMA

(3) Lalit Kala Academi

(4) Delhi Art Gallery

Options :

878270153421. 1

878270153422. 2

878270153423. 3

878270153424. 4

Question Number : 147 Question Id : 87827039049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The painter of the given painting is associated with which of the following school ?
(I) Madras

(2) Delhi
(3) Mayo
(4) Bengal
Options:

878270153425. 1
878270153426. 2
878270153427. 3

878270153428. 4

Question Number : 148 Question Id : 87827039050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Name the title of the painting ?
(1) Radha Viraha

(2) Radha in the garden

(3) Vipralabdha

(4) Abhisarika

Options:

878270153429. 1

878270153430. 2

878270153431. 3

878270153432. 4

Question Number : 149 Question Id : 87827039051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the medium of the painting ?

(1) Wash

(2) Fresco

(3) Tempera

(4) Gouache
Options :

878270153433. 1
878270153434. 2
878270153435. 3

878270153436. 4

Question Number : 150 Question Id : 87827039052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who is the Painter of the painting ?
)  Gopal Ghose

) Nandlal Bose

) Jamini Roy

)} N.S Bendre

Options:

878270153437. 1

878270153438. 2

878270153439. 3

878270153440. 4

Question Id : 87827039047 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



ferr % for

Sub questions

Question Number : 146 Question Id : 87827039048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wed o form dareera 1§ T gt 2
(1) smEFH™ (AIFACS)

(2) TASLTAY (NGMA)

(3) wfera wen aTaReHl

4) feoet & T

—

Options:

878270153421. 1
878270153422.2
878270153423. 3

878270153424. 4

Question Number : 147 Question Id : 87827039049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

wegd Tt o fasrer a1 ffafaa § 9 fhg Tpa | §av g7

(1) ¥=™9
(2) feeedt
(3)
(4) =TA

Options :

878270153425. 1
878270153426. 2
878270153427. 3

878270153428. 4

Question Number : 148 Question Id : 87827039050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



39 o &1 vd= o9EY

(1) T e

(2) afesh | e

(3) Tagcr=n

(4) =
Options:

878270153429. 1
878270153430. 2
878270153431. 3

878270153432. 4

Question Number : 149 Question Id : 87827039051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

= o3 & "Wream &1 989 Fife

(1) =™
(2) TSR
(3) T
(4) TE9
Options :

878270153433. 1
878270153434. 2
878270153435. 3

878270153436. 4

Question Number : 150 Question Id : 87827039052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1)  TIret =Y

(2) Figerd 99

(3) SUfHAT TE

(4) TATH %
Options:

878270153437. 1
878270153438. 2
878270153439. 3

878270153440. 4



